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Question Id : 3421236779 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the revenue (in ¥ lakh) obtained by a publishing house while selling
three types of publications, namely, books, magazines and journals during the four years from
2020 to 2023. Based on the data in the table, answer the questions that follow:

Year - wise Details of Revenue

_ | Revenue (in ¥ lakh) obtamned by selling of
= Journals Magazines Books
2020 45 33 10
2021 47 40 80
2022 40 42 §7
2023 40 i 79

Sub questions
Question Number : 1 Question Id : 3421236780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which year shows the highest change in revenue obtained from journals over the previous year?
1. 2020
2.2021
3.2022
4.2023
Options:
1.9 1
2. % 2

3. %3
4. % 4



Question Number : 2 Question Id : 3421236781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2023, approximately what percent of the total revenue came from books?

1. 46%

]
L
th
=
=]

3.35%

4. 25%
Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 3 Question Id : 3421236782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There was an increase in revenue from atleast two types of publications in comparison to
previous vear for exactly year(s)

55

3.3
4.0
Options:
1.9 1
2. %2

3. %3
4. % 4

Question Number : 4 Question Id : 3421236783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the year 2024 were to show the same percent revenue growth over the vear 2023 as the year
& o .
2023 over the year 2022, then the revenue in the year 2024 will be approximately

1.2 194. 063 Lakh
2.7 187.075 Lakh
3.2172. 083 Lakh

4.2 177.095 Lakh
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 5 Question Id : 3421236784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The growth in total revenue in 2023 in comparison to the year 2020 is approximately

1.21%

]

. 28%
3. 15%

4. 11%
Options:
1.9 1
2. %2
3.%3
4, % 4

Question Id : 3421236779 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension
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2020 43 335 70

201 47 40 g0

2022 40 42 87

2023 40 54 79

Sub questions

Question Number : 1 Question Id : 3421236780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aﬁﬂagﬁmaﬂfﬁﬂaaﬁfaﬁwﬁﬂﬁﬁﬁﬁ@ T XToRd H Faddd URdcH faars

1.2020

2.2021
3.2022

4.2023
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 2 Question Id : 3421236781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2023 H, IS DI U fdh o U= Gedehl T 31 U

1. 46%
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3.35%
4. 25%
Options :
1.9 1
2. % 2

3. % 3
4. % 4

Question Number : 3 Question Id : 3421236782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR AR

L1
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3.3

4.0
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 4 Question Id : 3421236783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i ay 2024 T, 39 2023 U 9] Word 9 T8 & ol a4 2022 G 2023 H ol Al ¥ 2024
ST AT T I 2

1.0 194. 063 ¢l
2.% 187.075 9
3.% 172,083 <9

4.% 177.095 ¢lId
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 5 Question Id : 3421236784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dY 2020 1 JeH1 H a4 2023 H ol IAoied H gig T fha-i g 2

1..21%

[

. 28%

4. 11%

Options :

1.1

2. % 2

3.%3

4, % 4

Sub-Section Number : 2
Sub-Section Id : 342123271
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421236785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The contents of Swayamprabha Channel - 25 with the theme of “Humanities and social sciences”
are provided by :-

1. IIT Kanpur
2. 11T Madras
3. 10T Tirupati

4. 11T Bombay

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 6 Question Id : 3421236785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WU T - 25 41 - ! 3R o fariT 1 favaasg fwiferd 1 @ fods grT
I BT Il & -

1. g 3Ty TR
2. 313 35 ¢t g
3. 318 315 < foreufd

4, 318 S ¢ 9y

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 7 Question Id : 3421236786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the period of subject English, in a class, Ram is able to recall the author of the book ‘The
diary of a young girl’. This type of memory is called

1. Procedural
2. Semantic
3. Episodic

4. Constructive
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 7 Question Id : 3421236786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yol fey 1 U et T 10 G ST i1 T e Sieh el Tl o i T A1
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| Ui aTeAd
2. el

3. Yy

4 I HD
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 8 Question Id : 3421236787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A language teacher wants to create visually appealing presentations / lessons with embedded

videos and interactive slides to enhance online lessons. Which of the following tools are most
suitable for this purpose?

A. Canva

B. Quizlet

C. Book Creator

D. Flipgrid

E. Adobe Illustrator

Choose the correct answer from the options given below:
1. B, Cand D Only
2. A, Cand E Only
3.B,Dand E Only

4. Aand C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 8 Question Id : 3421236787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, Gl
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C. 99 R
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E. [l 30
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. $dd B, C 4R D
2. HAqA, C ARE
3. % B, D AR E
4. HITAHRC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 9 Question Id : 3421236788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is a key principle in designing authentic assessment?

1. Standardizing assessment tasks to ensure fairness

-2

. Focusing on assessing only basic knowledge

LS

. Integrating real - world contexts and tasks into assessments
4. Using only traditional assessment methods like tests and quizzes

Options :
1.¥1
2. % 2



3. % 3
4. % 4

Question Number : 9 Question Id : 3421236788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YIS Hedlidh &1 3Hided qOR B3 &1 U9 gl Fafaied § 4 #@g
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2. Hdd Hifeid I & Jelid R 9 o1
3. ifchd WTd & Gt SR Grfcy Bl bl Pedich o FAIGYH
4. had T 3R fde S WRETA TedichH faferat &1 vgiT o3

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 10 Question Id : 3421236789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the three meta-cognitive skills used to regulate thinking and learning?
A. Planning
B. Presenting
C. Monitoring
D. Evaluating
E. Sequencing
Choose the correct answer from the options given below:
I.A, Cand E Only
2.A.Cand D Only
3.B, C and E Only
4.B,Dand E Only

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 10 Question Id : 3421236789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el S T i fafaid & o foru fgfoad /O Ji7 aifd)-SqTes Sie &l 9uH
DT -

A, M

B. IR

C. 3fdtefm
D. JedId
E. 3FHAT
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| Had A, C IRE

). hdd A C 3R D

3. BB, C AR E
4. BB, D IRE

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 11 Question Id : 3421236790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The principal orientation to the role of theory in relation to research is deductive in which of the
following research strategies?

. Quantitative
2. Qualitative
3. Inductive

4. Constructive
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 11 Question Id : 3421236790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgferfRa o oot Sy hreiAiral & <nte o ey o il o et b1 W e
GUNEICEE,

. URATITAD
2. U

3. STHATHAD

4. XdHD
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 12 Question Id : 3421236791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following types of validity is mainly concerned with the issue of causality?

|. Measurement Validity
2. External Validity

3. Internal Validity

4. Ecological Validity

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 12 Question Id : 3421236791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad o 9 9odl &1 & - 91 UhR GUId: & - RO Y Jridd § 2

1. TG el

2, ST YT

3. AR e
4. QIRCeIIg e

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 13 Question Id : 3421236792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the APA style of writing journal article references, identify the correct order of the following
information about the research article:

A. Title of the article

B. Last name of the author
C. Page numbers

D. Name of journal

Choose the correct answer from the options given below:
1.LAB,C.D
2.A4,B.D,C
3.B.AD.C
4.B,D,AC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 13 Question Id : 3421236792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 3421236793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of medical research, a comparison group that receives what appears to be a
treatment, but which actually has no effect, is called the

L. experimental group
2. control group
3. placebo group

4. Independent group

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 3421236793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.9 1
2. % 2



3. % 3
4. % 4

Question Number : 15 Question Id : 3421236794 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The numerator and denominator degrees of freedom are used in the computation of which of the
following test statistics?

.Z
2. Chi-Square
1%
4 F

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 15 Question Id : 3421236794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. o8

). DR - W
3.7
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Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 16 Question Id : 3421236795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Interpretation of a media text, which is in variance with the original creator's intention is
described as

|. Impersonal decoding
2. Aberrant decoding
3. Above-the-line decoding

4. Unequal decoding
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 16 Question Id : 3421236795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 17 Question Id : 3421236796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Mass Communication as a discipline has drawn ideas from

1. Physics

(i)

. Chemistry

(el

. Philosophy

4. Material Science
Options :
1.1
2. %2
3.% 3
4. % 4

Question Number : 17 Question Id : 3421236796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[
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4. Uerd fagm=

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 18 Question Id : 3421236797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The characteristics of cool media are:

A. High participation

B. Low definition

C. High definition

D. Small amount of information
E. High amount of information

Choose the correct answer from the options given below:

1. A, B, C Only

(]

.B, C, D Only

5]

.C, D, E Only
4. A, B, D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 18 Question Id : 3421236797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 19 Question Id : 3421236798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are associated with heavy use of Internet?

A. Internet addiction
B. Depression

C. Distraction

D. Atomization

E. Media Literacy

Choose the correct answer from the options given below:

1.A,B.C,D Only

b3

.B. C, D, E Only

e

. A, B, E Only
4. A, B, C,E Only

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 19 Question Id : 3421236798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafeiad ® 4 I 9 Sex-c & 3if¥d T ¥ d6fda g 2

A 484

D. BB
E. SHYIR HIEH (HIfSan) o1 3H

= feu U fas !l § ¥ @@ SR &1 99 DifoIT:
|.hdd A, B.C.D

2. HddB.C.D.E
3. H9d A.B.E
4. HIddA.B.C.E

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 20 Question Id : 3421236799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Concept) (Description)
A |Audience imperialism | I |Mediated aggression to reduce people's aggressive behaviour
B. |Catharsis II |Selecting news sources based on ideology
C. |Siloing III. | Early media exposure of the world to children
D. |Early Window IV. | Too much preference to audience activity

Choose the correct answer from the options given below:

1. A-L B-IL, C-III, D-IV
2. A-1L, B-II, C-1V, D-I
3. A-IIL B-IV, C-1, D-II

4. A-IV, B-I, C-II, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 20 Question Id : 3421236799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| A ST (s TE | & TP TR Bl H A & g
Zfeate ) TR A
B. |fRa (uRRm) 1. |Rigia IR e =2 il &1 90
C. |vum T @RaE) I1L. | &= 1 TR & URIYE i 3 THoR|
D. |3t fdsl IV, |31 Tiafafy @ e wfiea
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1. A-L B-II, C-II1, D-IV
2. A-IL B-III, C-IV, D-I
3. AL B-1V, C-I, D-II

4. A-IV, B-I, C-II, D-III
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 21 Question Id : 3421236800 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The total value of a collection of coins of denomination Rs.20, Rs.10, Rs.5, Rs.2 and Rs.1 is
Rs.570. If the number of coins of each denomination is same, then the number of 1 Rs Coin 1s?

1.10

2.42

3,13

4. 18

Options :
1.¥1
2. % 2



3. % 3
4. % 4

Question Number : 21 Question Id : 3421236800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

20 T, 10 0, 5 ¥, 2 B 3R 1| 90 e & e ] o Wfg 1 el Hed 570 817G
e e o (| ) e SHM €. ol L ¥ el o] ol e g

1. 10

3.15

4. 18
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 22 Question Id : 3421236801 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs.36 results in a discount of 25% on the marked price of an item, at what
price should the item be sold to offer a discount of 20%?

1.Rs.37.8
2.Rs. 38.0
3.Rs. 384

4.Rs. 394

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 22 Question Id : 3421236801 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

afe foodft 7G & 3fidhd PR W 25% BT e B URVIGET JHP! bl PAd 36 T 8,
20% 1 §2 &1 o {1 3 A Pl fehceft 1wl TR ol A1 g 2

. 37.8%0
2,380 %0
3,384 %00
1,394 %0

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 23 Question Id : 3421236802 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Choose the missing term out of the given alternatives-
AYBZC, DWEXF, GUHVI, JSKTL, ?

1. MQORN

(]

. MQNRO

(%]

. NQMOR

4. QMONR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 23 Question Id : 3421236802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AYBZC, DWEXF, GUHVI, JSKTL, E;

1. MQORN

(o

. MQNRO
3. NQMOR

4. QMONR
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 24 Question Id : 3421236803 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

In a certain coding language if the word “SOUND’ is coded as “VLXKG’, then the word
"TRAIN" will be coded as

1. VQWPF
2. WQDGQ
3. WODEQ
4.VODGQ

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 24 Question Id : 3421236803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U (% ecia YIH H 3052 “SOUND* Bl “VLXKG' § $icd [hal Sl g, a9 g
“TRAIN" BT §C I

1. VQWPEF
2. WQDGQ
3. WODEQ
4.VODGQ

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 25 Question Id : 3421236804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5 pumps, working 18 hours a day, can empty a tank in 12 days. How many hours a day must 6
pumps operate to empty a tank in 9 days?

1. 19 hours
2. 20 hours
3. 21hours

4. 22 hours

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 25 Question Id : 3421236804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.9 1

2. % 2

3. % 3
4. % 4

| )

Question Number : 26 Question Id : 3421236805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about the proposition - "A ship has mass. Therefore, all
the parts of the ship have mass"."?

L. It commits the fallacy of division
2. It commits the fallacy of equivocation
3. It commits the fallacy of hasty generalisation

4. It 15 a non-fallacious statement

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 26 Question Id : 3421236805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 27 Question Id : 3421236806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding sub-contrary propositions?

A. If one 1s true, the other must be false
B. They cannot both be false

C. If one 1s false, the other must be true
D. They can both be true

Choose the correct answer from the options given below:

1. Aand C Only
2.B, Cand D Only
3.A.Band C Only

4. Aand D Only
Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 27 Question Id : 3421236806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 3R U Wl 8, I GERI el BT A1fgul
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I feu T o eyl § O g1 IR &1 994 HIIU:
1. Had A 3R C

2. HddB.C 3R D

3. HAdd A, B3R C
4. Hdd A AR D

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 28 Question Id : 3421236807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. All non-trees are non-animals
B. No animals are trees

C. Some animals are not trees
D. No trees are animals

Choose the correct answer from the options given below:

1. Aand D Only

[

. A and B Only

(5]

.B and D Only

4. B and C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 28 Question Id : 3421236807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 U B 4 HyH diihd ©U Y g ¢ 2

A U TR -4 TR - U
B. D3 MUY I8 Tl ¢ |

C. $® U 9& 81 ¢

D. B3 Y1 3¢ U el 51

A fGu e fadetl & 9§ HgT IR D1 9G1 BISIT:
1.hde A 3R D

Hdd A 3R B

3.HadB 3R D

4. HadB 3R C

Options :

(o



1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 29 Question Id : 3421236808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which of the following are arranged in the order of decreasing denotation?

1. Animals, Vertebrates, Birds, Sparrows
2. Sparrows, Birds, Vertebrates, Animals
3. Animals, Birds, Vertebrates, Sparrows
4. Sparrows, Vertebrates, Birds, Animals

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 29 Question Id : 3421236808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{5 o O D1 91 9ed a&da & i § diyd g
1. U%, HRIGD], G&iT, TRAT
2. TTRAT, Ul HRRZPT, U
3. UYL, el HRISH!, TRAT
4. TIRYT, SRS, Gefl, Uy

Options :
1.1
2. %2
3.%83
4. % 4




Question Number : 30 Question Id : 3421236809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because the middle term is non - exclusive?

1. All things are non-eternal, because they are knowable.
2. The hill has fire because it is knowable.

3. Fire 1s cold because 1t is a substance.

4. Sound is eternal because it is produced.

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 30 Question Id : 3421236809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 UG o 3fAdifdd g b DRI, (4 [GU Y dehi § 4 B 9 e qrogui g2
. gt aRqU A g, Fife ag 9 ¢
2. Jdd ¥ 31 § Fife a5 3 3|
3. 3 331 g b 98 Tard G|
4. @ e ¢ b T S P! il

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 31 Question Id : 3421236810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the contribution of Douglas Engelbart in the evolution of computer?
1. Developed the first mouse
2. Developed the first Operating System (OS)
3. Developed the first Vacuum Tube
4. Developed the World Wide Web (WWW)

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 31 Question Id : 3421236810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeR & hifd [dHME T Sy UHledd DI AT ANGH G 2

1. UYH 9139 &7 a6y fdhar

2. UUH YT YOIl (311 Y ) &1 [dhi fdhal

3. YUY R Jd &1 [dH fha

4. fay =l 99 (S=Y S oY ) BT fdby b

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 32 Question Id : 3421236811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the context of computer networking, which of the following best describes the transmission of
a message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.

2. Data packets will always follow the same route and arrive at the same time in the same
order.

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order.

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 32 Question Id : 3421236811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%W%Wﬁ.%fﬁﬁﬂ%ﬂﬂ@ﬂ@ﬁﬁﬁ@ﬁﬂﬂﬂ@h
PG ?

1.%?%%%% TR B G § AN Y it A 7 it o T R Uga

|

2. $21 e BHI U & HF &1 R0 BT 3R U ] G99 TR 341 b 1 0l |

3§aﬁﬁﬁsﬁmwﬁmﬁﬁwﬁﬁmﬂﬁﬁﬁwﬁﬁﬁ.mwmu§aw
|

4. 31 Udve Firg- ot T T SR % Wbl € R ¥ GO U 90U W U gl o
EREUI
Options :
1.1
2. %2
3. %3
4. % 4



Question Number : 33 Question Id : 3421236812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of words A-E that correctly fills the blanks in the following paragraph on
computer networking:?

IPv4 addresses are long, and IPv6 addresses are long. The MAC address on the
otherhand,is  long. A MAC address is oriented - towards , whereas IP address is
oriented - towards

A, 128-bit
B. 32-bit

C. software
D. hardware
E. 48-bit

Choose the correct answer from the options given below:
LB,EADEC
2B, AEDC
3.E.BACD

4 AB.E.D,C
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 33 Question Id : 3421236812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR edihm Yatl 1 Ffaie 1 Red ©IF @1 O] TR G 4R o fel0 A-E el o Wl
$H Bl TgdH BIT:

PuUd el g AR Pve U0d WM g G AR MACTd W
SIS IMACTUD i 3R o= gl § Sfeidh 1p Ul 3l 3R

% || BRI

A, 128 - bit
B. 32 - bit
C. Uam
D. Bled

E. 48 - bit
rd few o fodedl © 9 @t IR 1 9T Bl
l.LB,E.A,D,C
2B.AEDC
3. EBACD

4 A,B.E,D.C
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 34 Question Id : 3421236813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to the computers, which of the following statements are correct?

A. CPU follows fetch-decode-execute-store cyele to run instructions.

B. Intel and AMD are two manufactures of CPUs

C. The clock speed of a CPU is usually measured in Megabytes

D. Fans are required to cool down most CPUs so that they do not overheat

E. CPU is the brain of the computers and modern CPUs cannot have multiple processing cores.

Choose the correct answer from the options given below:

I.A B, Cand D Only
2. Aand B Only
3.Cand D Only
4.A,Band D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 34 Question Id : 3421236813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HERUT SR

B. 20 AR UTA S W W g & &l MHidT €|

C. U Y1t g 1 Tt 71Tt ol ST eS| A7 Sl 6|

D. HiAei21 Gt Uiy I 81 B o fofw Ul @t af1awachal gl § iich Ifa1 S A gl

|

E. G101 4 e 1 Af%T g1l € 3R SYHS YR 1 g GH14D SR 51 81 b g
i fU U fadhetl # O gt TR 61 T P

1. $9d A, B,CIND

). $hdd A AN B
3,990 C YR D
4, BaA A, B IRD

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 35 Question Id : 3421236814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

{Di‘fp ;Dn} LIST 1 (Appropriate
A | A storage medium that stores data on the Internet I |RAM
B. |Internal storage where the current mstructions are stored II. |Cloud Storage
C. | A solid - state storage that is used in digital cameras I1I. |Blu-ray Disc
D. | An optical storage medium that stores high - definition (HD) movies | IV. |Flash Memory

Choose the correct answer from the options given below:
L. A-IL, B-IV, C-I, D-III
2. A-IIL B-IV, C-I, D-II
3.A-IL B-I, C-IV, D-III

4. A-I, B-II, C-IIL D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 35 Question Id : 3421236814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

el il

A JUYEH HERUT 1AW
A | U® SR A1 W 3e3e R ST HSRV Bl 3| I [3RTTH
B. |31 SR STg] G 3 @1 HUSRY {501 W 31 I % Nes

C. |fEolied BRI A TORT g a1l T Al (@IS ®e) HSRU | fe®@

WePTRITY HE Rl A1 ol S Wl (T S T Fall 1 HUGRUI ,
g | IV | () ¥

I fu U fawedt # T gt IR &1 95 DI
1. A-IL, B-IV, C-1, D-III
2. AL B-1V, C-I, D-II
3. A-IL, B-I, C-IV, D-III
4. A-1, B-II, C-III, D-IV

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 36 Question Id : 3421236815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UNFCCC (United Nations Framework Connection on Climate Change) was outcome of which of
the following meetings?

1. Montreal Protocol
2. Stockholm Conference
3. Rio Summit

4. Kyoto Protocol

Options :
1.v1
2. %2



3. % 3
4. % 4

Question Number : 36 Question Id : 3421236815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 0 0 4 ) Wt (S T Sierarg Ot el o ot v Faffed § 8 fog
93P B Uidha 417

| HifeTd TR

). WIHgH GHeH
3. 1 TR e

4. T TR
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 37 Question Id : 3421236816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which one of the following rotors is commonly used for electricity generation?

1. Savonious rotor
2. Darrious rotor
3. Propeller rotor

4. Multiblade rotor
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 37 Question Id : 3421236816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



faqgd Iare & v g Hyifed o 9 féga Sugigidars 2
1. aiAgg AR
2. SRAN AR
3. QUG e (WTUER) e
4, Aedised g AR

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 38 Question Id : 3421236817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which one of the following is an example of positive feedback in the context of climate change?

|. Warmed earth radiates more infrared energy (heat) into space
2. Plants remove carbon dioxide from the air
3. Oceans remove carbon dioxide from the air

4. Snow cover and ice shelf melting reduce reflection of sunlight

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 38 Question Id : 3421236817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafead T 9 o wiearg URad & e § RIS Wiy &l Ieeu g 2
1. IO e 4 afciived o SR St Sfaved il (SHNT) T fafehRu Bl g |

2. UG, I Y PIATSATEES ol (TGIE 6Yd ¢
3. IEHR 1Y ¥ BIaSHaHIES Bl FWhE did ¢
4, 60 SfTBTEH 3R 90 B A1 [UUeH o Beawey T4 HehrE] &l Wdd GH el ¢

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 39 Question Id : 3421236818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not among “three Rs™ a slogan: for solid waste management

1. Reduce
2. Recover
3. Recycle

4. Reuse
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 39 Question Id : 3421236818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



319 Hagl UseH | Fgifdhd | U S 91 Ud «diH R H ifed 181 8 2
1. R
2. RodR

3. g ad
4. 31-gd

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 40 Question Id : 3421236819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Typhoid is a waterborne disease caused by water contaminated by

1. Virus

b3

. Fungi
3. Bacteria

4. Protozoan
Options :
1.9 1
2. %2
3.% 3
4. % 4

Question Number : 40 Question Id : 3421236819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CTIBTIS sl I g 3R T8 Fufciied ¥ fbud defid od & pRU SR gl g -
L fam

2. hdd

3. Sl
4, VISt

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 41 Question Id : 3421236820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Mashelkar Committee recommended upgradation of Regional Engineering Colleges into:
. National Institutes of Technology
2. National Technical Institue
3. National Engineering Colleges
4. National Technical Colleges

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 41 Question Id : 3421236820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS FHTd = &5 SONaRT SIcl &1 TR de1a Hliad B B w3 ;
L. BT eI ] SR (FRITel SETege 3 Carermo)
2. VY A -fich] GRIF (Tl i 3&ege)
R T E R CAREIGREREEIEUIRUEARE
4. B T BTt (T2l Tl DIt

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 42 Question Id : 3421236821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020, emphasised the need to standardise:

1. The Indian tribal dialects

f

. The vanishing languages

el

. The Indian Sign Languages (ISL)
4. The classical languages

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 42 Question Id : 3421236821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TPt Riem ifet, 2020 H FHIRA B1 HHS Y G B SR W &el 371 77
1. MR S SUHTY (qifera

2. faqqa geft e
3. HRAIG Gidbfcd HTEIE (TS, T, Ua,)
4. TN (SRATGDT) HIETT

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 43 Question Id : 3421236822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Department of Higher Education, MInistry of Educaton (Gol), which of the
following are considered as the Institutions of higher learning?

A. The National Institute of Fashion Technology, New Delhi
B. National Institute of Design

C. Indian Institute of Advanced Study, Shimla

D. National University of Education Planning and Administration (Neupa), Delhi
E. Rashtriya Sanskrit Vidhyapeetha, Tirupati

Choose the correct answer from the options given below:

[. A, B.C Only
2.B,C,D Only
3.A,B,D Only

4.C,D, E Only
Options :
1.¥1
2. %2
3.%3
4. % 4



Question Number : 43 Question Id : 3421236822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FRIET AT (MR WRER), B Fefelk 1T famT o o, e o 9 foet st ol
I ST T G T 1l 2

. 0 R S R, T o
B. D1 Feig TR (37d §Tede i1t fwrs)
C. T 3 A TR, Il (35 $iee 3t Ugaivs e )

D, BTG e T R e fawfaee (), foeeh

el Fe TC fachedt # 9 gt SR @1 9 BT
1.Hd A, B, C

2. BB, C.D

3. %40 A, B.D

4.53AC, D, E

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 44 Question Id : 3421236823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Atomism was propounded by which of the following schools of Classical Indian Philosophy?

|. Advaita

2. Vaigesika
3. Buddhists
4. Samkhya

Options :
1.9 1

2. %2



3. % 3
4. % 4

Question Number : 44 Question Id : 3421236823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG for g ST YR SRR B TerRYRT 5 GRATVIG 1 idureH fod 7 o o
L. 3gd
2. 39
3,915
4. 900

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 45 Question Id : 3421236824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order of the following institutions of higher learning?
A. Rajkot College, Rajkot
B. Civil Engineering College, Roorkee
C. Sanskrit College, Calcutta

D. Sanskrit College, Benaras
E. Fort Williams College, Calcutta

Choose the correct answer from the options given below:

1LABEDLC
LG AEED
3.BEC.BA,
4.B,C,A,D,E

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 45 Question Id : 3421236824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I S Bl (9iaRad Sl &1 98! HIcchd & IR fafgd &1

A. XTSI & BIctol, ISThie

B. [&fad SolifFaRe el , ead!
C. Y& d DI, BIdDId]

D. §&hd e, IR

E. TI¢ [dfergd PIelol, dldsdldl

4 feu U fqmedl § U @37 IR &1 999 DI

1.A;B,E,D,C

2CABED
3. DECEBA

4.B.C.A.D.E
Options :
1.9 1
2. % 2
3.%3
4, # 4
Sub-Section Number : 3

Sub-Section Id : 342123272
Question Shuffling Allowed : No

Question Id : 3421236825 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions.

We could argue that humans naturally follow rituals that keep us busy. In an unusuval way, rituals
permeate daily life and business practices in modern Japan. The main religions in Japan -
Confucianism, Buddhism, and Shintoism - are all ones in which the rituals are more important
than absolute rules. When doing business in Japan, process, manners, and how you work on
something is more important than the final results. What is indisputable, though, is that finding
flow in a “ritualistic workplace™ is much easier than in one in which we are continually stressed
out trving to achieve unclear goals set by our bosses.

Rituals give us clear rules and objectives, which help us enter a state of flow. When we have only
a big goal in front of us, we might feel lost or overwhelmed by it; rituals help us by giving us the
process, the substeps, on the path to achieving a goal. When confronted with a big goal, try to
break it down into parts and then attack each part one by one.

Focus on enjoying your daily rituals, using them as tools to enter a state of flow.

Sub questions

Question Number : 46 Question Id : 3421236826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do rituals influence business practices in modern Japan?

1. Results are prioritized over the process

I3

. Manners and processes are more important than the final outcome
3. Rituals are not significant in Japanese culture
4. Business processes are goal oriented

Options :
1.v1
2. %2
3.%83
4. % 4

Question Number : 47 Question Id : 3421236827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is easler to achieve in a ritualistic workplace compared to a goal - driven one?

1. Financial success

[

. State of flow
3. Stress and anxiety

4. Unclear goal

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 48 Question Id : 3421236828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do rituals help us when we are confronted with a big goal?

1. Rituals make us feel more stressed

[

. Rituals provide clear process and substeps to achieve the goal

(]

. Rituals eliminate the need for goals
4. Ritvals allows us to ignore the goals

Options:
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 49 Question Id : 3421236829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Main religions in Japan emphasize on

1. The importance of rituals over absolute rules

(i)

. Goal over process
3. The irrelevance of rituals in daily life

4. Absolute rules over rituals
Options :
1.1
2. %2
3.% 3
4. % 4

Question Number : 50 Question Id : 3421236830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Role of rituals in human life

1. is to distract us from our goals

o]

. 1s to keep us busy and structure our daily activities
3. 1s very important during the religious practices only
4. s irrelevant in contemporary life

Options:
1.9 1
2. %2
3.%3
4, % 4

Question Id : 3421236825 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421236826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y ST | et SFFTH fbg UbR AR Trsit bl Yifdd Hid g 2
1. Ufch a1 1 i1 & TR &l urdffiddr &1 oIl g

2. TR IR ik, Sifcd uiRom &1 ol | Agayul ¢
4. FUIRD YfhaTT AeaI=1 gidl g

Options:
1.¥1
2. %2
3.%¥3
4, % 4

Question Number : 47 Question Id : 3421236827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. foreira e

2, 7T (dTg) i ST
3. 919 3R el

4. XYY o™

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 48 Question Id : 3421236828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U 99 160 U e ol TR 3 IR e {8 fohdl YR gHI Tige e § 2
1. HTH 3R g4 AP eI Ui Hequ o @l Rufa e €
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4. o 38 B el bl ToR3{ETS! e i Ul Gy Rl § |

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 49 Question Id : 3421236829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 50 Question Id : 3421236830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HId Sia H a1 38T BT YiAd!
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4. IS SiieA | AU ¢

Options :
1.1
2. %2
3.%3
4. % 4
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Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123273
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421236831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRA TR B JTHIY AU 1 G - S DI Ggraell Y <ailell feal TalY: 196 Giedi
U dOR {2

1. el I g1
2. gHd i

3. fasg Hegn

4. B Rl

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 51 Question Id : 3421236831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR IR & T [T B 1 - S5 Bl G5l © el el Taly: A0 Sieddy
ERERUIIEDIE,

1. dlclg I g1l
2. gHd Il

3. [ Heg

4. B R

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 52 Question Id : 3421236832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qTiel & Ui da1hR0l Sl & IR uife § fhdHT eafaf & -

1. 40

I3

.41
3.42
4.43

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 52 Question Id : 3421236832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UTfel & Ui da1dhR0 haid o YR Uifel § fbaHT eafar of

1. 40

I3

.41
3.42
4.43

Options :
1.1
2. %2
3.%3
4. % 4



Question Number : 53 Question Id : 3421236833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRTS! T T sioTToT o g forn 77 g, QR ST o 1, o o WreRorenay
o0 favg @ A1 11 g I 98 B [hedl g 2

1. g

2, T G

3. fRra e Rfg

4. BoIRY G fae

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 53 Question Id : 3421236833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“RTS! T T sioTTeT o g forn 77 g, ORI RTohed= o 1, ot o Wremorenay
2 fug & g ST g I 98 B [hedl g 2

1. 4R

2. HicT U¥Te 7t
3. R e Rfg

4, BRI G fad

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 54 Question Id : 3421236834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR VG TWHR §RT 31 9elTg 19473, T i3 d SR foifly GuR i & sregg w4 2
RRGUSINK WAREIR]

2. AR Tl
3, W% 6d
4, TRV Aqdel

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 54 Question Id : 3421236834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR VG TWOR GRT 31 9elTg 19475, T i3 d SR} foifty GuR 9ifd & srege a4 2
REUSINK WAREIR

2. G2 IRl
3. NG d
4, RV Al

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 55 Question Id : 3421236835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foTfey cror faferssrs arforefg fad gkl o o |
YIRY ©ilg daau] oig gu] o 99 o5 |
31 B - Ul & ITHThR g $id g -

1. Uyl
2. AR

3. WUl
4. SIftaar
Options :
1.9 1
2. % 2

3. % 3
4. % 4

Question Number : 55 Question Id : 3421236835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foTfay <ror faferssre arforefe fad gkl o o |
YIRY Wllg qdaul oig gu] o 99 o5 |
g1 1] - Ufekigl & THTHR g Hid g -

1. HUgUl
2. HHRT

3. Y<gUl
4. Siftaur

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 56 Question Id : 3421236836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



{179 UH HTS 90l | T1fe d P18 3R HR 73T
Uellad H 9g $UA 9D gRI Hel ™l § -

1. 3[dT3e
AT

SR IH
4. ANTHI

Options :
1.9 1
2. % 2
3.%3
4. % 4
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Question Number : 56 Question Id : 3421236836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H139 UH 4TS 941 | Tife d BT 3R HR 73T
GeTiad & 98 Y- fhdd gRI el T ¢ -

1. 3[dI3e
REn

GRET YD
4. ATHT

Options :
1.9 1
2. % 2
3.%3
4, % 4
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Question Number : 57 Question Id : 3421236837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"qTET ST el H b Sare S,
Sl Blg TR S DI Seadle A7)
SIUSH I & T T g HYq URdg & [ Fdy 18 2

1. STGRITE - GUoT

2. JUIFAT 3R HRAQY
3. Y SIS T feraAd
4. Giddl TR

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 57 Question Id : 3421236837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qTET ST el H b Sare S,
Il lg TR S S Seadle AT
SIUSI T & G T 98 $Y9 URdg & g Fdy 18 2

1. SGRITE - SUU
2. qWIEdT 3R HRday
3. 30y 3RS WA feredd

4. i<d] TR
Options :
1.4 1
2. % 2
3.% 3
4, % 4

Question Number : 58 Question Id : 3421236838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAgferRad H O fhURIdrd TRarH! &1 394 gl o -

1. dRI

 HYH HHARI

3. YMHT WY

4. IforaT &1

Options :
1.9 1
2. % 2
3.%3
4. % 4

[

Question Number : 58 Question Id : 3421236838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAferRad ® O fhYRIdrd TRarH! &1 394 gl G -

1. dRT

2. YA HHN]

3. YMHI U

4. IforaT &

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 59 Question Id : 3421236839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ORI A1 U 6T 90 {69 Hgl 1 gamgo
1. 3O YA Y7

EIEINEEEIRE]
@I U & §TH

4. Mol

Options :
1.9 1
2. % 2
3.%3
4. % 4
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Question Number : 59 Question Id : 3421236839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR 9% U &1 90 {69 sl 4 g3 g»
1. 37T 3T YRy

EIEINEEEIEE]

o]

NIGRIGEIGUE

4. Mol

Options :
1.9 1
2. % 2
3.%3
4, % 4
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Question Number : 60 Question Id : 3421236840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o 128 & SR s el B sl 1 Jgute Gdyun g cllad o fdar 2
1. GO TG fgere
2. FagaN dreiudl
3. Tfdey i
4. qifafyrg fgdal

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 60 Question Id : 3421236840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 128 & SR ATl ekl 1 Gl 1 Jgure Gayu g aclad o far o
1. B TR fgere
2. FegaR dreudl
3. TfdeTg i
4. qifafyrg fgdal

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 61 Question Id : 3421236841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UGG X TS fgISEey|
®Ied d SAd S1g S UfdHrad:
BT o it H g i [y em o1 § 2

1. HHC

2. Y[Hg
3. dal

4. diHd
Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 61 Question Id : 3421236841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRYCRIG I A STSfaaiswe|
PIa g 1 Siid S iad UfdHEd:”
BT o it H U5 i fbd e o1 § 2

1. HHC

2. Y[Hg
3. dal

4. dIHA
Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 62 Question Id : 3421236842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Siel 3UHY W4 g1 31 3UHH Bl 9ol dIF 9T 3Pk Bidl g2
1. RSB

Udig

[

3. 344y
4. UD

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 62 Question Id : 3421236842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Slgl 3UHY W4 g1 341 3UHH Bl dgl &I 9T PR Bidl 82
RIGEG]

Udig

(g

3. 34-dY
4. UD

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 63 Question Id : 3421236843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YA = BT - 0T &1 T feb A1 g2

1.8

FJ
o

3 16
4. 11

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 63 Question Id : 3421236843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRAGH 9 $1ed - 01 &1 &1 ol /-1 82

1.8

FJ
WO

3 16
4. 11

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 64 Question Id : 3421236844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RY PI TG SVEISHIAIG GAR Tgl & W deb Il <asblict; BTl - e &1 gl 1
U ] {dad] SUF g 1 - U8 [ Ard &1 B g2

1. ega dreigd]
2. Raer e JigM
3. A

4, faery g

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 64 Question Id : 3421236844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RY P1 7g HVICHIAIG GAR Tgl & W dpITddals <asbilcet; B1od - e &1 gl 1
0] fIad SUF G - T3 [ D B HUH g2

1. GG drefud]
2. Rraer g 2gH
3, A &

4, Yt g

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 65 Question Id : 3421236845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST 1T HT B e HYDRI P! ell T HAR Ul g, o 10 Freforh ot of
3 el &1 Tl [34R o > ATU! IO el ddr 3R U1 R IRd Tel 6, 79
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1. SR HIg T

), HIATE A

3, T G TRl
4. gTed Tfd< TS

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 65 Question Id : 3421236845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 1T HOH B e HYDRI P! ell R HAAR U g, o A0 Freforeh ot of
3 e &1 Tl [34R o T 3ATU! IO el T 3R 1 R 3R Tl 6, 79
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1. TR AIg 3

2, HIATE U

3. T G Tl
4. gTed Tfd< TS

Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 66 Question Id : 3421236846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ForerT e it <51 et § R oI 1o 1 vl g1 b el TR T U3l § 3
YR {2181 9 T 1T 1 Sl o T o T 2

1. fra e R i

), TP 2
3. YR givys

4. a0 TR Y
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 66 Question Id : 3421236846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot e it <0151 Tt § R oI 1o 1 Wil g1 b e TR T U3l § 3T
IR T8 T el 3o $oH g o B ¢

1. f2ra vrae R i

), PV
3. YRdq givd

4. T RV 7Y
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 67 Question Id : 3421236847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TFh %] 1 Rl i Teiien! IR g Zafer foehfrd d facreriil Sl & 0 gl
& el g, R deil I Jal Heted fobd faaRd e fa € 9

|, TG
2. W Rd oA

3. ol e
1. 6l

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 67 Question Id : 3421236847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tyh % 1 Rl i Teien! O g Zafery faepfrd d facreriil Sl & 1 gl
& el g, R deil I Jal Heted fobd faaRd e fa € 9

|, TG
2. W Rd oA

3. ol e
1. 6l

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 68 Question Id : 3421236848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T AT o S0 el el §U SR GUTAId ©, cifet ot S 3 il 7 UG gil
TR fob SR S0 TG fl IR 1 39 FR T el 3w &1 G Wb 1 98 1 & i
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|, SRR foed

2, T Tl
3. aRfd< Iy

4. ot ¢ Ul
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 68 Question Id : 3421236848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|, TR e

2, T TG
3, R 1Y

PRCIEEMS
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 69 Question Id : 3421236849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



®Is i gl ag Far didt, 9T 91 R AR T &2
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BT b fHa T Y Iggd ¢ -

1. 44U

(g

.91
3. 311

4. GOy
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 69 Question Id : 3421236849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 44U
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29T
3. S{T=M

4. Oy

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 70 Question Id : 3421236850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gg AF R H [ASa1 & YRl -l ddadi g1
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1. fauTeRmT
2 Qai'a TId
3. f9=Im - FEA0
4. ATHd - AR

Options :

1.1

2. % 2

3. %3

4, % 4

Question Number : 70 Question Id : 3421236850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T g | g, et 9 gife 8 Bl |
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g Ufaal fhg e g U g -

1. fasreRm
2. Uhid Tifld
3. f9=m - AEA

4. 3AHd - AR
Options :
1.4 1
2. %2
3. %3
4, % 4

Question Number : 71 Question Id : 3421236851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 39201 H Tl - S8 & Uld SUel b1 Yid g

B. 3a2il UH 3R YR & 3147 &1 Bl ¢

C. 390 3R Godl & did UH 9gd ST D TR P g

D. 34 30 FaI1d %] B U T8 Bl |

E. 3431 i *fd 3 B gR1gfRd 9gd 5

A feu T gk eul § O gl 3R &1 994 B
|.hdd A, B.C

2. HddB.C.D
3. H9dB.D.E
4. HAAA.C.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 71 Question Id : 3421236851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



femdx & Tfd - Treg 399 | Fgfafad FRvdnd eprd gidl g -
A. 39201 H Tl - S8 & Uld SUel b1 Yid g
B. 3a2il UH 3R YR & 3147 &1 Bl ¢
C. 390 3R Godl & did UH 9gd ST D TR P g
D. 34 30 FaI1d %] B U T8 Bl |
E. 3431 i *fd 3 B gR1gfRd 9gd 5

1 feu U famedl © U Fgl IR &1 994 HIflu:
1.Hdd A, B, C
2. $Had B, C.D
3. $hdd B, D. E
4. BAA A, C. E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 72 Question Id : 3421236852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 1T 3R 3PN

3. TGid 3R oY
4, 7Y 3R URRRfT

Options :
1.1
2. %2
3.%3
4, % 4




Question Number : 72 Question Id : 3421236852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRR §R1 U Wi b URYH & o1 Ugell Ui daR H &1 T fhg ge 1 g
1. I 3R R

2. 1 3R 3PN
3. UPid 3R IeY
1. 700 3R URRRR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 73 Question Id : 3421236853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIquTerie b G 7 o T T STel € b TRTHIRG 1 X, ol gl 7] & 9 0l 3, IR
ol 71 781 § 98 el Tl o7

RUEE G
2. 4ol
3. Y

4,950
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 73 Question Id : 3421236853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ol 71 g1 § 98 el Tl o7

| SO g
2. ag o
3.
4.5

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 74 Question Id : 3421236854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y Hdg 67

. I
). 1d6d
3. BIARR

4. dld-IGNY
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 74 Question Id : 3421236854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. I
). 1d6d
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4. dld-IGNY
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 75 Question Id : 3421236855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%ﬁﬁwwaﬁmwmwwmammmwmm
I |

REANIN

2. ST

3, T T

4. TR
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 75 Question Id : 3421236855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I |

NEINIEY
2. TG
3. T U
4, TR

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 76 Question Id : 3421236856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FERMEYR AHD R P Ieeid [y dHeHl H g3l g2
1. TSl FRE R

2. I U &I §TH
3. HIRST
4. TR T eI 3% el Had

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 76 Question Id : 3421236856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ARG ATHG RIH 1 Iecid [y Hgrl H gl g2
1. XTSI TR

2. dIe U &I §TH
3. AHIRGT
4. TR T [P 3% el Had

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 77 Question Id : 3421236857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl i1 1 A I G Tt 8, ff T - GIehR A e U, G Wil b1 cRE S e
TN, Tg WITRTd § 1 “ORS B b1 I B (e abghy

L.

A

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 77 Question Id : 3421236857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TG, 98 WITeTd § 1 “ORS B b1 S B [ abghy

1. g
2.
3, T dfetept

4. ST boll

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 78 Question Id : 3421236858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G aTe gl & W TS e 3 A g
1. 31& Y
2. AT ay
3.cH Ty
4. TRE dY

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 78 Question Id : 3421236858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 318 a9

ATy

qgay

4. TR 9y

o]

el

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 79 Question Id : 3421236859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fob gl o IR R, e, et U, SOl 3G Rl &1 Seeid gl g 2
L. faar

2. TS
3. SRR 31 T

4. DI BT IR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 79 Question Id : 3421236859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. faar

2. TG
3. SR 3 T

4. DI T IR

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 80 Question Id : 3421236860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R TRY Aled H AR 3% BT RM 6
1. SITTe
2. dVlR
3. 0o HHI
4, JHIH

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 80 Question Id : 3421236860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|

[
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3. ol JHI
4. HIIA

Options :

1.9 1

2. % 2

3. % 3
4. % 4

Question Number : 81 Question Id : 3421236861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA S G Y W Gad, T ¥ Hl 9 AR TRR U i PoR, B0 & ol FRIFI g
Tl 1 ST, g S S Gl | - [l e Pl 3o GaTG (et g2

L. dIU[dY

. I
3, fige
4. 4T

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 81 Question Id : 3421236861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. Jcid]
3, fige
4 T

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 82 Question Id : 3421236862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 Yl o WA ol &1 99 Yfaeml 77 81 34 3ifel T e v o fofu offa - R
T o i T - <3G 1 U S Teeh 1 Skl GaTg il €9

1. foreer
2. Hfcciadl

3. BIfeie
4. Tl

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 82 Question Id : 3421236862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Yl o Y oa 31 99 el 57 1 34 sl H o &R o [ off - Rl
THG i 7T T 17 - G 6l U e 1edh ol Iod HaTg il g2

1. o
2. Gfexidhl

3, BIfcie
4. facim

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 83 Question Id : 3421236863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I g THed IR FY|
19 Pifc G gId b=l & 81 81 8 31| | - YRd gaa 1edh & Iad iid g s H g

1. fgell 3
2. QW 3@
3, AT 3

4.0 3
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 83 Question Id : 3421236863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I e ThHNd A1 g1 |
19 Pifc Yol I fUed H g1 213 31y 1| - HRA G620 A1edh 1 I 7iid fobd S H g

1. gl 3

2. QW 3@
3. TR Sfch

4. 901 3
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 84 Question Id : 3421236864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl 3R YW T o SRR U S 9 HIS o o U 31es &1 39W ¢ 39
R B! T a1 Sdar DH g

CEUEL)
2. 3felde
3, Tlaerg

4,71
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 84 Question Id : 3421236864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Trotel R U Y B SFTAR Ui 9l g HIS X 1o 7T 3eX &1 39 ¢ 39
316 I G ael el I 7

. 35HaY
2. 3feme

3 I b L

4.7
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 85 Question Id : 3421236865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR AR W o AR IR T, ficlh o) 3 et fo 1 1 e ferr g
U

REEIRCH
2, i Hiwrar
3. QIHCTed T
4. i 9

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 85 Question Id : 3421236865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS W SRFAR IR I, ficlh o 3 et 1 foow 1 4 e fera
U

1. Gt
2, ST HiAT
3. qCid T
4, 3G g

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 86 Question Id : 3421236866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rrag(d ey & YR FEfaRad 8 9 $H 91 gfdal &1 9o 3 1g) 67
1 9d

2. oled

3. DIc

4. X1

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 86 Question Id : 3421236866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Rragfdd: ey & SHYR FafaRad 8 9 $F 91 5fddl &1 98 I g 62
1. 9d

2. oled

3. Pl

4. Xl
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 87 Question Id : 3421236867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B &1 (Uil gl fora H SiaHiaR @I FafRad 3 4 [ 9id 9 Aeg el il
. DA & Sl

2. YAde G T g
3. TP - TR ¥ Ui SR g
4. ol Bl 9 g B g

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 87 Question Id : 3421236867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B &1 g shter ferat # Sfia iR ol Fafeed 3 @ g 9id | Heg e fieflo
1. Ui B ol 9
2. WHe & T
3. Qe - GBI ¥ Yapliid Seru
4. 90 oft  wldw g ¥

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 88 Question Id : 3421236868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad o O {69 oid oI o<t &1 Ud ghsT 1 &gl 11 82
1. Hafgan
2. TP gl gg H

3. 1 Yo |1 TG B

4. 3TUgeL

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 88 Question Id : 3421236868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafafad ° 9 {69 $id ol 5=l $1US cha1 ai gl T 82
1. Hafgdr
2. TP HgHl gg Hi

3. 1 Y] [T TG e

4. 3Ugel
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 89 Question Id : 3421236869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Bl & [ &1 Y U Qigfdis Haldd fHaiad &1 =0 YRV a3 Tl 572
|, THell & 350 4 Y

2. Bl & Ugdl &U1
3. el G 40T Y
4, el & A U

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 89 Question Id : 3421236869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Bl & [ &1 Y BUe ! iigfdid Haldd Haiad &1 U YRV &3 Tdl g7
| Sl & 3¢H g Y

2. &l & Ugd U Y
3. el d G 40T Y
4, el & A U

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 90 Question Id : 3421236870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Hafedr &y 7ild &1 Ige2g Ul 41 2
1. el
D

(g

3. tRAR

4. GIAIdISTG
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 90 Question Id : 3421236870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Hafgdr f&d 7iq i dge iy Hewyd 4 2
1. Sl
2. Tfgdl

3. ERATR
4. QIAdIEIG

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 91 Question Id : 3421236871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT & T BT Ug! 3IhH H1 ¢ 2

A. 99y
B. WU
c.fAde
D. G
E.&HH

i feu MU fadhedl © O gat 3R &l 994 SHifoie:

b8 B C D F

2. E.B.AL D
3.8B,.C,D AE

4 D E A B C
Options :
1.9 1
2. %2
3.%3
4, % 4



Question Number : 91 Question Id : 3421236871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DA & T BT UGT 3IhH ®I1 G 2

A. 99y
B. WU
c.fde
D. GRH
E. &HH

= lGu U faheal § O gt IR 1 991 DIl

b8 B G I E

b

EBAED

L

B, C,D,ALE

4 D.E A B C
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 92 Question Id : 3421236872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I I Ao o1 Qe =<l bl il T Wioc;- fAclvor o el o Wil e ¢

A THR H 91 B RIS
B. A1 f4=arg | gl &1 fadad

C. fed @1 99 i
D. T, TH! GqTd

E. T 7 31 IRie avf ofR SR
At iU U fdedl © ¥ g8t TR &1 90 DI
1EDABE
2CD.EAB
3.D,E,C,AB

4 D,AB.C.E
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 92 Question Id : 3421236872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I I Ao o1 Qe =<l bl il T Wioc;- fAclvor o el o Wil e ¢

A THR H 91 B RIS
B. A1 f4=arg | gl &1 fadad

C. fed @1 99 i
D. T, TH! GqTd

E. T 7 31 IRie avf ofR SR
At iU U fdedl © ¥ g8t TR &1 90 DI
1EDABE
2CD.EAB
3.D,E,C,AB

4 D,AB.C.E
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 93 Question Id : 3421236873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o131 3aId & id Iid 4Hd &, 37P1 Ug! 3HH g 2

A. HEH {ddRI BT SZTa-T D &

B. T D1 TRAT 3R Ihy DT GYfId UHd

C. T aYT 3fd:URd g

D. DRI - [TARIIPR 3R UsalciDdR BT FHIT TINT
E. Yo Teg - IofT

= lGu U faheal § O gt IR 1 991 DIl

1. A C, DE, B

2.CD.B.AE
LB DO E &

4 E.A.C.D.B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 93 Question Id : 3421236873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o131 3aId & id Iid 4Hd &, 37P1 Ug! 3HH g 2

A. HEH {ddRI BT SZTa-T D &

B. T D1 TRAT 3R Ihy DT GYfId UHd

C. T aYT 3fd:URd g

D. DRI - [TARIIPR 3R UsalciDdR BT FHIT TINT
E. Yo Teg - IofT

= lGu U faheal § O gt IR 1 991 DIl

1. A C, DE, B

2.CD.B.AE
LB DO E &

4 E.A.C.D.B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 94 Question Id : 3421236874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR P AT & FH<Td & 30711 BT ST 3IHHT -

A PYHDR
B. fdaR

C. diA

D. Tid

E. UGHISHI

= lGu U faheal § O gt IR 1 991 DIl

LBDCE, B AC

2 CAE DB
3.E,LA,D,B,C

4. A.C,B,E.D
Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 94 Question Id : 3421236874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR P AT & FH<Td & 30711 BT ST 3IHHT -

A PYHDR
B. fdaR

C. diA

D. Tid

E. UGHISHI

= lGu U faheal § O gt IR 1 991 DIl

LBDCE, B AC

2 CAE DB
3.E,LA,D,B,C

4. A.C,B,E.D
Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 95 Question Id : 3421236875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FgfIRad ASHITde 913l &l Ugd U €916 & HH H TisU 2

A. AT YR T Ty &1 Ugdl 3HUdH
B. 3RGd YR HRTH ST T RITGA

C. A T0gfd ISl BT SR

D. GG ATl bl RY

E. &1 [qUTSH &1 919or

= lGu U faheal § O gt IR 1 991 DIl

1.C, B, E; I A

2B, C.AED
3.C,E,B,A,D

4 E.B.C.A.D
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 95 Question Id : 3421236875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FgfIRad ASHITde 913l &l Ugd U €916 & HH H TisU 2

A. AT YR T Ty &1 Ugdl 3HUdH
B. 3RGd YR HRTH ST T RITGA

C. A T0gfd ISl BT SR

D. GG ATl bl RY

E. &1 [qUTSH &1 919or

= lGu U faheal § O gt IR 1 991 DIl

1.C, B, E; I A

2B, C.AED
3.C,E,B,A,D

4 E.B.C.A.D
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 96 Question Id : 3421236876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FAIRId faR®! b1 o1 99 & YR Ugd 4 918 & o H U

A. ThIUs

B. fhdhe,

C. BId |
D. TgTET Tl
E. SIIdR1d Bl

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT

1.C,B.E.D,A

2.B.CEAD
3. B, DA FEC

4. B D.C.A B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 96 Question Id : 3421236876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FAIRId faR®! b1 o1 99 & YR Ugd 4 918 & o H U

A. ThIUs

B. fhdhe,

C. BId |
D. TgTET Tl
E. SIIdR1d Bl

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT

1.C,B.E.D,A

2.B.CEAD
3. B, DA FEC

4. B D.C.A B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 97 Question Id : 3421236877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG H 3T AT &I Ugd U 911G o hH H Hdid DHIfoTT -

A. RIPR 7ET

B. HId &1 BRI &I TR &A1
C. YR T &1 gl

D. GHS! d4IS &I U

E. 0HTed & Tel 49y a9

= lGu U faheal § O gt IR 1 991 DIl

1.A; B, D, E, C

2B,D EAC
3.B,E,D,A, C

4. AE. C.,D, B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 97 Question Id : 3421236877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG H 3T AT &I Ugd U 911G o hH H Hdid DHIfoTT -

A. RIPR 7ET

B. HId &1 BRI &I TR &A1
C. YR T &1 gl

D. GHS! d4IS &I U

E. 0HTed & Tel 49y a9

= lGu U faheal § O gt IR 1 991 DIl

1.A; B, D, E, C

2B,D EAC
3.B,E,D,A, C

4. AE. C.,D, B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 98 Question Id : 3421236878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS &1 ST T 1S Ufckral bl Ugel T G o oW Hf Haf@yd i

A foRR A oa F e e, o T a1 ot SR A9 TR ot R e R & e ot

B. ATfOTGhT ST b 1 O] el X ¥ o) ] Tl s o Wi T S, ...
. MY qorvE 1M Y g ) Ui 6 I g R aetfae 1 Tl 6|

D. FQfOrRT o foeft wanferf bl 1 Tt o ey for I 1 7 9, 9h o2 - A W

ENEETRI |
Egﬁ%ﬁaﬂﬁ?ﬂwwwﬁﬁq&-ddet&ﬂg&ma{rﬂwéﬂﬁaﬁgﬂﬂaﬁ@ﬂ
|
i feu U fadea # 9 Fgt TR &1 ST

ILB.E,C,AD

2.C,E.B,D,A
WCBEDA

4.B,C,E,A,D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 98 Question Id : 3421236878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS &1 ST T 1S Ufckral bl Ugel T G o oW Hf Haf@yd i

A foRR A oa F e e, o T a1 ot SR A9 TR ot R e R & e ot

B. ATfOTGhT ST b 1 O] el X ¥ o) ] Tl s o Wi T S, ...
. MY qorvE 1M Y g ) Ui 6 I g R aetfae 1 Tl 6|

D. FQfOrRT o foeft wanferf bl 1 Tt o ey for I 1 7 9, 9h o2 - A W

ENEETRI |
Egﬁ%ﬁaﬂﬁ?ﬂwwwﬁﬁq&-ddet&ﬂg&ma{rﬂwéﬂﬁaﬁgﬂﬂaﬁ@ﬂ
|
i feu U fadea # 9 Fgt TR &1 ST

ILB.E,C,AD

2.C,E.B,D,A
WCBEDA

4.B,C,E,A,D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 99 Question Id : 3421236879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DI BT YZdR B HYR R THE & DY D Ugd Y91 &b i H THIET 2

A. B IR U §3 S, 1 71 BT SR TR Y- bl T1W] G o)
B. S €, Y@ o1 313 gl Sicd U 1 BrIgl 2

C. Gag U 3fd db &4 USR] 4t 781 33111 Yo Dl &l el el T 5

D. Ul TTel Uefe 9 ofie 3T o, deid die o fofu gg evra fern|

E. ST 81 g 6. SARd & g1d @i a1 Afeql & w@ie gl geRI gil g

+id feu Tu fadetl § ¥ T3t IR B 989 DI

1.A,C,D,B,E

2.CD.B.EA
3.D,C,B,AE

4.A,C,B,D,A
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 99 Question Id : 3421236879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DI BT YZdR B HYR R THE & DY D Ugd Y91 &b i H THIET 2

A. B IR U §3 S, 1 71 BT SR TR Y- bl T1W] G o)
B. S €, Y@ o1 313 gl Sicd U 1 BrIgl 2

C. Gag U 3fd db &4 USR] 4t 781 33111 Yo Dl &l el el T 5

D. Ul TTel Uefe 9 ofie 3T o, deid die o fofu gg evra fern|

E. ST 81 g 6. SARd & g1d @i a1 Afeql & w@ie gl geRI gil g

+id feu Tu fadetl § ¥ T3t IR B 989 DI

1.A,C,D,B,E

2.CD.B.EA
3.D,C,B,AE

4.A,C,B,D,A
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 100 Question Id : 3421236880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR T T 9% ] Ham gl 1 RIS I o o ] demel b W | Sfeeifed
RJHI Pl U5l Y d1G B A § U |

A. BRITTIS
B. dHHTR
¢ GideR
UL

E. THR
id feu e fadedl 4 U el IR BT 98 DI

1 AE R DE
2.B,D,E,C,A
LB.EDAL

4.D,E,C,B,A

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 100 Question Id : 3421236880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR T T 9% ] Ham gl 1 RIS I o o ] demel b W | Sfeeifed
RJHI Pl U5l Y d1G B A § U |

A. BRITTIS
B. dHHTR
¢ GideR
UL

E. THR
id feu e fadedl 4 U el IR BT 98 DI

1 AE R DE
2.B,D,E,C,A
LB.EDAL

4.D,E,C,B,A

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 101 Question Id : 3421236881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST e 1 Sawalfi & Yaal & U U a6 o o H I

A, TIC T30, 39 G AN - 1a o fofU 3o HgH o i SH1axdehl T |

B. 7% | Q0 2 Gl R U 7 9 | T ¥ iie o TR Wi o1 & Tfeped o SR T 3
BIRAIIE

C. 7 B TR 3R rRRT Sffa- 7R & g

D. T | F MW o SHTTRT H e - & o) 1Tt &S ol

E. 30! BT Pl ] 7 TR A el o W a1 7 6

i feu e fadedt 1 U W57 I &1 T PIC

.AB.D.E.C
2: 48, B.D.L
3 B,EACD

4.B,A,E,D,C

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 101 Question Id : 3421236881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST e 1 Sawalfi & Yaal & U U a6 o o H I

A, TIC T30, 39 G AN - 1a o fofU 3o HgH o i SH1axdehl T |

B. 7% | Q0 2 Gl R U 7 9 | T ¥ iie o TR Wi o1 & Tfeped o SR T 3
BIRAIIE

C. 7 B TR 3R rRRT Sffa- 7R & g

D. T | F MW o SHTTRT H e - & o) 1Tt &S ol

E. 30! BT Pl ] 7 TR A el o W a1 7 6

i feu e fadedt 1 U W57 I &1 T PIC

.AB.D.E.C
2: 48, B.D.L
3 B,EACD

4.B,A,E,D,C

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 102 Question Id : 3421236882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3{RT SNR° e | Ul & Ugd ¥ d1g & YdTel b1 gl b H g -

A. RIS
B. hholdrdl
C. qTdTel

D. dggardl
E. R4l

- feu U fad el § O @87 IR &l 999 HIog:

1.D,AE, B, C

2.D.EALCHB
3. D BACE

4.D. B, E.A €
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 102 Question Id : 3421236882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3{RT SNR° e | Ul & Ugd ¥ d1g & YdTel b1 gl b H g -

A. RIS
B. hholdrdl
C. qTdTel

D. dggardl
E. R4l

- feu U fad el § O @87 IR &l 999 HIog:

1.D,AE, B, C

2.D.EALCHB
3. D BACE

4.D. B, E.A €
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 103 Question Id : 3421236883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UM B e YR ¢ H 311 Uil &1 ugl PH o

A. AT BIerId ARt
B. IR Sid Y9 IR RAR]

C. AFTfd 3@y YgTdg HRI
D. SUIE Uhig U HERI

E. TR T9H RS S Ydl
A4 fqu T [9d el § U TgT IR DI 90 DIfoI0:

b8 B G I E

2. AEBDER
3.CA.B,DE

4. C,E.A,D,B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 103 Question Id : 3421236883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UM B e YR ¢ H 311 Uil &1 ugl PH o

A. AT BIerId ARt
B. IR Sid Y9 IR RAR]

C. AFTfd 3@y YgTdg HRI
D. SUIE Uhig U HERI

E. TR T9H RS S Ydl
A4 fqu T [9d el § U TgT IR DI 90 DIfoI0:

b8 B G I E

2. AEBDER
3.CA.B,DE

4 C.E.A.D.B
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 104 Question Id : 3421236884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Trogdl IR G ey T 311 Uikl 1 Ugel U G o b1 H ey it

A Mmﬁagaﬂﬁaﬁwé%auﬁww%ﬁmmaﬁMﬁm@"mw
UGS

B. 591 90T d1c] 3R 8 <R aTel Wik WHIa 3 &l Y g o

c. U4 9 4 IS el ¢ g U U1 3ed < ke ¢l

D. 73 1 I & 1Y T o I H 31eh} T e ST ol e el ¢

E. 3G ! AWIRd A1 Tl b1 7 ¢ | i 3R Tig o aGe) T I o] 71 ¢

A U fodedl 4 Y @91 IR P19 BT

LABDCE

2BABDEE
3B ACDE

4.C,A,D,E,B
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 104 Question Id : 3421236884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Trogdl IR G ey T 311 Uikl 1 Ugel U G o b1 H ey it

A Mmﬁagaﬂﬁaﬁwé%auﬁww%ﬁmmaﬁMﬁm@"mw
UGS

B. 591 90T d1c] 3R 8 <R aTel Wik WHIa 3 &l Y g o

c. U4 9 4 IS el ¢ g U U1 3ed < ke ¢l

D. 73 1 I & 1Y T o I H 31eh} T e ST ol e el ¢

E. 3G ! AWIRd A1 Tl b1 7 ¢ | i 3R Tig o aGe) T I o] 71 ¢

A U fodedl 4 Y @91 IR P19 BT

LABDCE

2BABDEE
3B ACDE

4.C,A,D,E,B
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 105 Question Id : 3421236885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG R H Ifcwiad FufaRad i &l 9g) HA H

A, UTC gRI HICH AT A1 Bl Hgil feRe TR U el HgRE A H8 G fda|

B. fIGR1 ¢l &1 Ugell gkl TTew §9 1 i g2 |

. IR &l o fen v gU AiRmR g5

D.ﬂ@ﬂ@aﬁiﬂaﬁ?%?ﬁmuamaﬁaﬁmaﬁwﬁﬁméwm@a%
T |

E. Yl §u1 1 AT & fofu i Ugell R foed ol §

i fu e fadedl 4 4 @8t IR 1 90 BifT:

1LAD,C.BE

2.A.B,D.E.C
3.B,A,D,C,E

4.B,D,A,C,E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 105 Question Id : 3421236885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG R H Ifcwiad FufaRad i &l 9g) HA H

A, UTC gRI HICH AT A1 Bl Hgil feRe TR U el HgRE A H8 G fda|

B. fIGR1 ¢l &1 Ugell gkl TTew §9 1 i g2 |

. IR &l o fen v gU AiRmR g5

D.ﬂ@ﬂ@aﬁiﬂaﬁ?%?ﬁmuamaﬁaﬁmaﬁwﬁﬁméwm@a%
T |

E. Yl §u1 1 AT & fofu i Ugell R foed ol §

i fu e fadedl 4 4 @8t IR 1 90 BifT:

1LAD,C.BE

2.A.B,D.E.C
3.B,A,D,C,E

4.B,D,A,C,E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 106 Question Id : 3421236886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST o Gy H Fgfciiad o fieid &

A, TG 343 (1) & TR 9 I AU gl R e e gt

B. 17 5[, 1957 B IVUTG GRT ISTHIN 3T &1 76+ b 1|

C. a6 350 ¥ IdH Ty SR e el 31 B U1y bl oA g |

D. 3G 344 B S{THR AFUT UM o WA U 3 & Y o T AGTHINT ST
foa X Wl ¢

E. 3G 345 T I 0GR § fob 18 1 fayTeiS el fafdl gR v a1 ot e
Ut 27 fcl bl TRARI Tt o ol WlipR 62 G|

A feu E famedl 6 Y HpT SR 31 98 BT
| $9A.B.D
2. $aA A, C,E
3.Ha A, C,D
4. $IUA,D,E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 106 Question Id : 3421236886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST o Gy H Fgfciiad o fieid &

A, TG 343 (1) & TR 9 I AU gl R e e gt

B. 17 5[, 1957 B IVUTG GRT ISTHIN 3T &1 76+ b 1|

C. a6 350 ¥ IdH Ty SR e el 31 B U1y bl oA g |

D. 3G 344 B S{THR AFUT UM o WA U 3 & Y o T AGTHINT ST
foa X Wl ¢

E. 3G 345 T I 0GR § fob 18 1 fayTeiS el fafdl gR v a1 ot e
Ut 27 fcl bl TRARI Tt o ol WlipR 62 G|

A feu E famedl 6 Y HpT SR 31 98 BT
| $9A.B.D
2. $aA A, C,E
3.Ha A, C,D
4. $IUA,D,E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 107 Question Id : 3421236887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 1 T ATl & G Fgfafed o fidd ¢

A.?ﬁﬁaﬂw 3R BT $1 U HRY e Ud Giiid ol 2P U 30! duadi

|

B.?ﬁﬁmﬁmﬁﬁmmqﬁﬁﬁwwmﬁw@@aﬂﬁ
|

¢. gHl ATl fee) Hid Teaida U

D. gt o faara ¥ oo uRiRifaal R miafafal &1 ST gy gl

E. iG] Ve AR €ff ¥ wgeayul 1 4, gHiey g o wdefRiend 7 s
3HqeG

i feu T fawel 4 ¥ g8t TR &l T B
|. HATA,B,E
2. HITA,B,D
3. B, D,E
4. 9B, C.D

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 107 Question Id : 3421236887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 1 T ATl & G Fgfafed o fidd ¢

A.?ﬁﬁaﬂw 3R BT $1 U HRY e Ud Giiid ol 2P U 30! duadi

|

B.?ﬁﬁmﬁmﬁﬁmmqﬁﬁﬁwwmﬁw@@aﬂﬁ
|

¢. gHl ATl fee) Hid Teaida U

D. gt o faara ¥ oo uRiRifaal R miafafal &1 ST gy gl

E. iG] Ve AR €ff ¥ wgeayul 1 4, gHiey g o wdefRiend 7 s
3HqeG

i feu T fawel 4 ¥ g8t TR &l T B
|. HATA,B,E
2. HITA,B,D
3. B, D,E
4. 9B, C.D

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 108 Question Id : 3421236888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YfckIdY &1 Hiddi g -
A. dalXl&d
B. Y3 WX A1 Yfel
C. YATTad!
D. e ®hI gd
E. YUcd
A feu U gk eul § O gt IR &1 984 ST

1. Hdd A, D, E
2. A B, C, E
3. PAd A, B, C
4. BAA A, C. E

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 108 Question Id : 3421236888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YfckIdY &1 Hiddi g -
A. dalXl&d
B. Y3 WX A1 Yfel
C. YATTad!
D. e ®hI gd
E. YUcd
A feu U gk eul § O gt IR &1 984 ST

1. Hdd A, D, E
2. A B, C, E
3. PAd A, B, C
4. BAA A, C. E

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 109 Question Id : 3421236889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fgdl ey 3R Fey®R &1 9gl 1 8:

A. Y4 g1 81 7 - |red gdre iy
B. tRdl 3R YT - JHJE -G

C. 93 R {1 9§ s=gu - gy g vt
D. Jolol Wi - VAR g

E. TR 9% - Uisd &< I 3T

= lGu U faheal § O gt IR 1 991 DIl
|.hdd A, B.D

2. FAAA.C.E
3. H9d A. C.D
4. H9dB.D.E

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 109 Question Id : 3421236889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fgdl ey 3R Fey®R &1 9gl 1 8:

A. Y4 g1 81 7 - |red gdre iy
B. tRdl 3R YT - JHJE -G

C. 93 R {1 9§ s=gu - gy g vt
D. Jolol Wi - VAR g

E. TR 9% - Uisd &< I 3T

= lGu U faheal § O gt IR 1 991 DIl
|.hdd A, B.D

2. FAAA.C.E
3. H9d A. C.D
4. H9dB.D.E

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 110 Question Id : 3421236890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BId & AHTIR HHAST & Hedy H HYT g -
A. TR 3R AHSSTH 34 g
B. U 3Id: U1 bl -Tgl il ¢
C. &l - YiP dhad 3RS B

D. &dl ¥U 3R 9% & 1 gdl g
E. Bl 343 g

1 feu U fadhedl § U gaT IR Bl 994 DHifoie:
1.Hdd A, B, D
2. HAdd B, D, E
3. hAd A, C. E
4. $Bdd B, C,D

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 110 Question Id : 3421236890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BId & AHTIR HHAST & Hedy H HYT g -
A. TR 3R AHSSTH 34 g
B. U 3Id: U1 bl -Tgl il ¢
C. &l - YiP dhad 3RS B

D. &dl ¥U 3R 9% & 1 gdl g
E. Bl 343 g

1 feu U fadhedl § U gaT IR Bl 994 DHifoie:
1.Hdd A, B, D
2. HAdd B, D, E
3. hAd A, C. E
4. $Bdd B, C,D

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 111 Question Id : 3421236891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I U & HeH H agudy & Iugdd DY E -

A. URITd AR H UIEl BT SRR a9 d g1 ¢

B. HIa] Udd HIAl &1 gl 3wda g |

C. HIFE I JAIGRN H A1 &1 RH Bl o

D. HId 918 51 RN Y 30d 8l 51 Bl 3AHiGd H3d g |
E. JTHI0T YW 1ed & fole 3ugad el o

= lGu U faheal § O gt IR 1 991 DIl
|.hddB.C.D

2. FdAdA.B.E
3. H9dA.D.E
4. H9dB.D.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 111 Question Id : 3421236891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I U & HeH H agudy & Iugdd DY E -

A. URITd AR H UIEl BT SRR a9 d g1 ¢

B. HIa] Udd HIAl &1 gl 3wda g |

C. HIFE I JAIGRN H A1 &1 RH Bl o

D. HId 918 51 RN Y 30d 8l 51 Bl 3AHiGd H3d g |
E. JTHI0T YW 1ed & fole 3ugad el o

= lGu U faheal § O gt IR 1 991 DIl
|.hddB.C.D

2. FdAdA.B.E
3. H9dA.D.E
4. H9dB.D.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 112 Question Id : 3421236892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IC faferam Picisl & Uael H Tl B ¢-

A, 5% ST U A I i & feIu T 1800 7 WIE faferd dicr bt T @1

B. 1802 H 4TS 53t & U& W Ig@ ol e e gul

C. IC faferam dlcrel I RITTHT 3 SHERI Pl YR (-9, T, Sl 3R
Gl T T 1 X b feru g

D. Wi fTciohEe fergRaF! fa T b TIheR e gu Y|

E. I¢ fafciqd Biciel o S Y UM 3feell T A < ] i Dkl el

el Fe TC fachedt # 9 gt SR @1 9 BT
1.5 A, B INE
2. BRI A, C IR D
3. Bde B, C AR E
4. 5908, D IRE

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 112 Question Id : 3421236892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IC faferam Picisl & Uael H Tl B ¢-

A, 5% ST U A I i & feIu T 1800 7 WIE faferd dicr bt T @1

B. 1802 H 4TS 53t & U& W Ig@ ol e e gul

C. IC faferam dlcrel I RITTHT 3 SHERI Pl YR (-9, T, Sl 3R
Gl T T 1 X b feru g

D. Wi fTciohEe fergRaF! fa T b TIheR e gu Y|

E. I¢ fafciqd Biciel o S Y UM 3feell T A < ] i Dkl el

el Fe TC fachedt # 9 gt SR @1 9 BT
1.5 A, B INE
2. BRI A, C IR D
3. Bde B, C AR E
4. 5908, D IRE

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 113 Question Id : 3421236893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST HAG I & ey H 3FId HY9 6 -

A. T IHATG G YR H AP TABIRG & HRI10e A &1 ¢

B. 9gaddlg § 3! Tgdl 3 4|

C. TS AT G Ui 7 D e o faviet o

D. 35 “HdIG BT R 3fd AHHaX 3RIIR DI RIGHI Pl |

E. IS AR I A YWY SHA! & (G865 9206 A< Ia 9ard |

A flGu U fadhedl # O @81 3T &1 994 DI
|.HddA. B IR E

2. HAd B, C AR E
3. $ad B. D ARE
4. HAdA.D 3IRE

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 113 Question Id : 3421236893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST HAG I & ey H 3FId HY9 6 -

A. T IHATG G YR H AP TABIRG & HRI10e A &1 ¢

B. 9gaddlg § 3! Tgdl 3 4|

C. TS AT G Ui 7 D e o faviet o

D. 35 “HdIG BT R 3fd AHHaX 3RIIR DI RIGHI Pl |

E. IS AR I A YWY SHA! & (G865 9206 A< Ia 9ard |

A flGu U fadhedl # O @81 3T &1 994 DI
|.HddA. B IR E

2. HAd B, C AR E
3. $ad B. D ARE
4. HAdA.D 3IRE

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 114 Question Id : 3421236894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W DI Wi Yo &1 FHafefad fagant g -
A. 3T Hd FId ST ST ST JHE0 g |
B. YFIYS & G T 0 1 IR &I gl Ui Seoid 71 ¢ |
C. 31 fS1eR 8. fdd Bl 1l IR gl g1 A1igu|
D. I3l HIddl H S{YPR - YD BT §545 ¥R Iaidl IgdTl g
E. Ig $iddl (RI=M &1 g S el Hdl g

A feu U [qdeti § 9 a7 IR &1 99 HISIT:
1.bdd A, B, C
2. $dd A, D, E
3. $Pdd A, C.D
4. $hdd B, C.D

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 114 Question Id : 3421236894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W DI Wi Yo &1 FHafefad fagant g -
A. 3T Hd FId ST ST ST JHE0 g |
B. YFIYS & G T 0 1 IR &I gl Ui Seoid 71 ¢ |
C. 31 fS1eR 8. fdd Bl 1l IR gl g1 A1igu|
D. I3l HIddl H S{YPR - YD BT §545 ¥R Iaidl IgdTl g
E. Ig $iddl (RI=M &1 g S el Hdl g

A feu U [qdeti § 9 a7 IR &1 99 HISIT:
1.bdd A, B, C
2. $dd A, D, E
3. $Pdd A, C.D
4. $hdd B, C.D

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 115 Question Id : 3421236895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G B 6 Y Yl Fwfciad du # Y gl ol &l 9gH o

A. Y ST g9 (o &1 [9aR AR ol &1 T et o 91 s S gT 341 0|

B. &IgTdci! R el H qerd Pt Wila-id! WY dR W ierd g1

C. IO ¥ qerdll o o7 R & T 1§ IR Bl i gl

D. 393U B! feRg U Ugel TR ol  ‘Bladraal: 3R foaubiaT &I @ ak R Uel|
E. XYARGIY ol 71 T3 AT o A il ¢|

rd few U fodedl o ¥ WeT IR &1 T DI
1. HddA,B, C
2. A A, C.D
3. $9B,C.D
4§99 C.D.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 115 Question Id : 3421236895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G B 6 Y Yl Fwfciad du # Y gl ol &l 9gH o

A. Y ST g9 (o &1 [9aR AR ol &1 T et o 91 s S gT 341 0|

B. &IgTdci! R el H qerd Pt Wila-id! WY dR W ierd g1

C. IO ¥ qerdll o o7 R & T 1§ IR Bl i gl

D. 393U B! feRg U Ugel TR ol  ‘Bladraal: 3R foaubiaT &I @ ak R Uel|
E. XYARGIY ol 71 T3 AT o A il ¢|

rd few U fodedl o ¥ WeT IR &1 T DI
1. HddA,B, C
2. A A, C.D
3. $9B,C.D
4§99 C.D.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 116 Question Id : 3421236896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Tiefl 3ffer & AR G HYA G

A. Tiell 3ffder &1 el T foran 7 Sur |

B. "Sfd[Ff! o1 Grerkell 3T Il § R GgTU 1 Graal g aXaleil g1 U8 Ho Gerdl bl
M & aRAg]

C. 39 3TN H 6dl 67 WS ¢

D. 39 S0 H ryciell d ol wgqclel! &1 &3y clel dgd g

E. U &1 20 7 1 G- 130 TS| 80 3 g1 § 1" el §¢ el Bl g |

el Fe TC fachedt # 9 gt SR @1 9 BT
1. HATA,BC
2. BB, C.D
3. A C.E
4.53AC, D, E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 116 Question Id : 3421236896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Tiefl 3ffer & AR G HYA G

A. Tiell 3ffder &1 el T foran 7 Sur |

B. "Sfd[Ff! o1 Grerkell 3T Il § R GgTU 1 Graal g aXaleil g1 U8 Ho Gerdl bl
M & aRAg]

C. 39 3TN H 6dl 67 WS ¢

D. 39 S0 H ryciell d ol wgqclel! &1 &3y clel dgd g

E. U &1 20 7 1 G- 130 TS| 80 3 g1 § 1" el §¢ el Bl g |

el Fe TC fachedt # 9 gt SR @1 9 BT
1. HATA,BC
2. BB, C.D
3. A C.E
4.53AC, D, E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 117 Question Id : 3421236897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



% Bl gIad” Bl & ATYR W AHEAIY & 64 H e d HY g

A, IHATY BT HRAIT H T8 1T 21

B. TMHATY 5 A & g HHIS 3R e IddR Ug- & ol Hgll
C. AT 394 I B AT04E Id U |

D. YMHATY Ut &l Srard] YHAgd & oH1 9gd Ul

E. QMETY &1 G441 & g ol fidr gicit & |

14 feu U fadetl & 9 JgT IR B1 994 BT
1.HId A, B 3R D
2. $HAd B, C 3R E
3.$ddB.D 3R E
4. HAd A, C 3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 117 Question Id : 3421236897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



% Bl gIad” Bl & ATYR W AHEAIY & 64 H e d HY g

A, IHATY BT HRAIT H T8 1T 21

B. TMHATY 5 A & g HHIS 3R e IddR Ug- & ol Hgll
C. AT 394 I B AT04E Id U |

D. YMHATY Ut &l Srard] YHAgd & oH1 9gd Ul

E. QMETY &1 G441 & g ol fidr gicit & |

14 feu U fadetl & 9 JgT IR B1 994 BT
1.HId A, B 3R D
2. $HAd B, C 3R E
3.$ddB.D 3R E
4. HAd A, C 3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 118 Question Id : 3421236898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T4 RIS Sl & day # 3Fad HY9 5|

A. HTEIdl B 30 URAR 3R TeR0 I G4 &1 344 gidT Ul

B. HICIdl & Ufd TRBRI SlaeR Y|

C. PRI 3 3R Sidex & Uld IGbh H4 H 33! Hia-1 i |
D. HIcIdl A U1 & gRI TS fhdid BIe &R b ¢l i

E. ATcidl & I &1 91 @l g1 ¥gdl 8, el gl iR usdr gl

i feu U fasedl # ¥ ggT IO &1 99 BIfoIU:
|.hdd A. B3R D

2. Hdd B, C AR D
3. $ddB.D 3ARE
4. HAd A, D 3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 118 Question Id : 3421236898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T4 RIS Sl & day # 3Fad HY9 5|

A. HTEIdl B 30 URAR 3R TeR0 I G4 &1 344 gidT Ul

B. HICIdl & Ufd TRBRI SlaeR Y|

C. PRI 3 3R Sidex & Uld IGbh H4 H 33! Hia-1 i |
D. HIcIdl A U1 & gRI TS fhdid BIe &R b ¢l i

E. ATcidl & I &1 91 @l g1 ¥gdl 8, el gl iR usdr gl

i feu U fasedl # ¥ ggT IO &1 99 BIfoIU:
|.hdd A. B3R D

2. Hdd B, C AR D
3. $ddB.D 3ARE
4. HAd A, D 3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 119 Question Id : 3421236899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T 3{ey AIcch H Ugel Hd & T H Fgfafad aa fadd ¢ -

A. 931 ASD1 B YHDT Fdl AN H FUTS |
B. SUG] Ugdl Hd =My Ared 91 gR7 fdhar |
C. 24P ST 41 39 Ragsl A foan|

D. BIc] dSh! Dl YHST SR R US|
E. 39D Hdd BRaxl 1969 5. H g3

= lGu U faheal § O gt IR 1 991 DIl
. hdd A, C 3R E

2. Had B, C AR D
3. Had B, C 3R E
4. Hdd A, B3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 119 Question Id : 3421236899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T 3{ey AIcch H Ugel Hd & T H Fgfafad aa fadd ¢ -

A. 931 ASD1 B YHDT Fdl AN H FUTS |
B. SUG] Ugdl Hd =My Ared 91 gR7 fdhar |
C. 24P ST 41 39 Ragsl A foan|

D. BIc] dSh! Dl YHST SR R US|
E. 39D Hdd BRaxl 1969 5. H g3

= lGu U faheal § O gt IR 1 991 DIl
. hdd A, C 3R E

2. Had B, C AR D
3. Had B, C 3R E
4. Hdd A, B3R E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 120 Question Id : 3421236900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ez 1 el Tieeh H FHRAT & U 6

A. H T O Gl ot e o1 Wl clichet Wl o1 o |

B. T W g1 H {08 U Xl §, WA G1-aR 9 g 61 ell 3R fUA. 3 e g2 o
o &1 9 off <@

. el &1 TG forh e T gty FRIe SR efl 01 W 8 T | ell @l SR
12 fayra ok Rg a1 g

D. 76U 1 Y44 51 0 &l § 3R il 1 Ga 4510 6 oY |

E. GG ol 1% qH oieH 4R aaITa <G | 301 61 e bt 3Fvict aTe qH g oI
Bl | &8 Y ol T &l 77| R g Y 1Y el X, 1 ¥l S gl |

rd feu o foedl § 9 Tt IR 1 9T il
1.5dd A, B R D
2. 90 B,D R E
3. 9B, C HRD
4. AT A, C 3R D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 120 Question Id : 3421236900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ez 1 el Tieeh H FHRAT & U 6

A. H T O Gl ot e o1 Wl clichet Wl o1 o |

B. T W g1 H {08 U Xl §, WA G1-aR 9 g 61 ell 3R fUA. 3 e g2 o
o &1 9 off <@

. el &1 TG forh e T gty FRIe SR efl 01 W 8 T | ell @l SR
12 fayra ok Rg a1 g

D. 76U 1 Y44 51 0 &l § 3R il 1 Ga 4510 6 oY |

E. GG ol 1% qH oieH 4R aaITa <G | 301 61 e bt 3Fvict aTe qH g oI
Bl | &8 Y ol T &l 77| R g Y 1Y el X, 1 ¥l S gl |

rd feu o foedl § 9 Tt IR 1 9T il
1.5dd A, B R D
2. 90 B,D R E
3. 9B, C HRD
4. AT A, C 3R D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 121 Question Id : 3421236901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tidd T g e U Gl T o g

A. 0 S Y T 1 A 1909 H U e 91 ol feran 47 |

B. PR G - TRaeH o gRT 3fdet: 1929 H 3 3ifod &0 oI gl

C. DI 1 3H{qH 7168 T §eU Y WHGT RITH SR 31 T T o Aiftien el
IR

D. ¥l 918 3R T o iR &1 3 g |

E. T8 1 4 H a1l {a Ward HIaliedn g

e feg 1 et # Y Aot I 1 T BT
1.5 A, B,E
). $TA,B.D
3. $dTB,CD
4.HdqB, D, E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 121 Question Id : 3421236901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tidd T g e U Gl T o g

A. 0 S Y T 1 A 1909 H U e 91 ol feran 47 |

B. PR G - TRaeH o gRT 3fdet: 1929 H 3 3ifod &0 oI gl

C. DI 1 3H{qH 7168 T §eU Y WHGT RITH SR 31 T T o Aiftien el
IR

D. ¥l 918 3R T o iR &1 3 g |

E. T8 1 4 H a1l {a Ward HIaliedn g

e feg 1 et # Y Aot I 1 T BT
1.5 A, B,E
). $TA,B.D
3. $dTB,CD
4.HdqB, D, E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 122 Question Id : 3421236902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG 1 6 82" o TR TG HYH &

A. CAd1H! o Aol 1 99, ol e g Pl gfsar g |

B. TOYR T 3(d TeH - 90 TR G e 1 i 3R T U318

C. T Tl STefeh = AFA A el 4 1 0% T § - STl ), TG gl § 2

D. U 9l decl 41 - g e, HIeR @1 3R &l | Rl i A R adl ..

E.%ﬁ%?ﬁmwﬁimaﬁuﬁwuﬁ%maﬂaﬁsgﬂwaﬁwmﬁ
Y |

w1l U TE facedt # ¥ Wat SR Pl 90 BT
|.HAq A, B.E
2. BT A.B.D
3. %4 B, C.D
4. 590B, C.E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 122 Question Id : 3421236902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG 1 6 82" o TR TG HYH &

A. CAd1H! o Aol 1 99, ol e g Pl gfsar g |

B. TOYR T 3(d TeH - 90 TR G e 1 i 3R T U318

C. T Tl STefeh = AFA A el 4 1 0% T § - STl ), TG gl § 2

D. U 9l decl 41 - g e, HIeR @1 3R &l | Rl i A R adl ..

E.%ﬁ%?ﬁmwﬁimaﬁuﬁwuﬁ%maﬂaﬁsgﬂwaﬁwmﬁ
Y |

w1l U TE facedt # ¥ Wat SR Pl 90 BT
|.HAq A, B.E
2. BT A.B.D
3. %4 B, C.D
4. 590B, C.E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 123 Question Id : 3421236903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



faT] GTeHR o R - TTie] Sff o SIS IR FIGd GHIS IR Bl fobel Tl bl
ORI T 3fefaTe; fehar 4

A. fRI9eg
B. I &l FAfd
C. qGH
RIE A
E. 35
i feu U fadhedl 1 U WaT IR P19 B

1. HId A, B, C
2. Haq A, B,D
3.HAU A, C.E
4,59 B,C,D

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 123 Question Id : 3421236903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



faT] GTeHR o R - TTie] Sff o SIS IR FIGd GHIS IR Bl fobel Tl bl
ORI T 3fefaTe; fehar 4

A. fRI9eg
B. I &l FAfd
C. qGH
RIE A
E. 35
i feu U fadhedl 1 U WaT IR P19 B

1. HId A, B, C
2. Haq A, B,D
3.HAU A, C.E
4,59 B,C,D

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 124 Question Id : 3421236904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR fo5d TR H 9 B g:
A, YT & ATeie] & 9 R 951 adl H U6 Alciel, 981 foesd i 399 dfad 78 o

B, fof65d H TGgaTct 9-10 Sollh Jaid 6, 961 Wedk dTc] G- el 31 3gd ol 94 &d gl
C gwﬁwamaﬂummzﬁmmwwwwmw

D. 31l & HBER] Pl T H G Ped § R I Zcdh Pl wllg gl Sl gl
E. Hifed d U (i) & G Y @M - UiH @1 el & § 9H U 95 ol aXd ¢

A few U foeedt H U Wad SUqE SR @I 99 oL,
1.5 A,B,D
2. BRI A, C. E
3. %4e B, D, E
4. 5ddB,C.D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 124 Question Id : 3421236904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR fo5d TR H 9 B g:
A, YT & ATeie] & 9 R 951 adl H U6 Alciel, 981 foesd i 399 dfad 78 o

B, fof65d H TGgaTct 9-10 Sollh Jaid 6, 961 Wedk dTc] G- el 31 3gd ol 94 &d gl
C gwﬁwamaﬂummzﬁmmwwwwmw

D. 31l & HBER] Pl T H G Ped § R I Zcdh Pl wllg gl Sl gl
E. Hifed d U (i) & G Y @M - UiH @1 el & § 9H U 95 ol aXd ¢

A few U foeedt H U Wad SUqE SR @I 99 oL,
1.5 A,B,D
2. BRI A, C. E
3. %4e B, D, E
4. 5ddB,C.D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 125 Question Id : 3421236905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Rl ekd A “GRer | Wb Feferad Sl ol Aiitind] &1 2fd § Hid uyH
Sl & S H AT § -

A, 30l - R ATl

B. W &1 450 - HREX WIaH g

C. G arell - s el

D. IRE T4 &1 ¥ - g Yol

E. Uf&d 3R Ufgdrh - fRe o

i e U fadhedl 1 qad SUYE SR &1 997 BIIIg
1. $AqA, D, E
2. BT A, B, E
3. B A, C,E
4, HAAA, C.D

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 125 Question Id : 3421236905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Rl ekd A “GRer | Wb Feferad Sl ol Aiitind] &1 2fd § Hid uyH
Sl & S H AT § -

A, 30l - R ATl

B. W &1 450 - HREX WIaH g

C. G arell - s el

D. IRE T4 &1 ¥ - g Yol

E. Uf&d 3R Ufgdrh - fRe o

i e U fadhedl 1 qad SUYE SR &1 997 BIIIg
1. $AqA, D, E
2. BT A, B, E
3. B A, C,E
4, HAAA, C.D

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 126 Question Id : 3421236906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 & I
(@FEamT) | EERURME)
Newmay |1 |5

184 ® | 1 |FHaaTe
®. 9 7Y | I |garey
489 |1V [

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-ITL, B-1, C-II, D- IV

glo|w|e

2. A-1II, B-1, C-1V, D-1I
3. A-IIL B-IV, C-11, D-1
4. A-III, B-1I, C-1, D-IV

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 126 Question Id : 3421236906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 & I
(@FEamT) | EERURME)
Newmay |1 |5

184 ® | 1 |FHaaTe
®. 9 7Y | I |garey
489 |1V [

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-ITL, B-1, C-II, D- IV

glo|w|e

2. A-1II, B-1, C-1V, D-1I
3. A-IIL B-IV, C-11, D-1
4. A-III, B-1I, C-1, D-IV

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 127 Question Id : 3421236907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
(Gn%ﬁﬁ?) (Gﬁﬂm
mifiafad | 1 [Rdufew
BRI 7EG fgadl | 11 [Wiee o1 JHRrd 3R udig
o 48 1. |3 BT BT Hedidp-
eI HEH IV. g7 3R Hifgd

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-1, C-II, D-IV

ola|w|»

2. A-IV, B-11, C-1, D-I1I
3. A1V, B-1, C-1I, D-IIT
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 127 Question Id : 3421236907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
(Gn%ﬁﬁ?) (Gﬁﬂm
mifiafad | 1 [Rdufew
BRI 7EG fgadl | 11 [Wiee o1 JHRrd 3R udig
o 48 1. |3 BT BT Hedidp-
eI HEH IV. g7 3R Hifgd

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-1, C-II, D-IV

ola|w|»

2. A-IV, B-11, C-1, D-I1I
3. A1V, B-1, C-1I, D-IIT
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 128 Question Id : 3421236908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I II
& Ehiar
e &f gl L |9 AR
e & g0 1L |9rREard Tgacl
e Sadr 1. |9erdR uamE o
e, &al iR UH | Iv. |9

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-1, C-II, D-IV

olo|w|s

2. AL B-11, C-1, D-IV
3. A-IV, B-1I, C-1, D-III
4. A-1, B-1II, C-11, D-1IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 128 Question Id : 3421236908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I II
& Ehiar
e &f gl L |9 AR
e & g0 1L |9rREard Tgacl
e Sadr 1. |9erdR uamE o
e, &al iR UH | Iv. |9

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-1, C-II, D-IV

olo|w|s

2. AL B-11, C-1, D-IV
3. A-IV, B-1I, C-1, D-III
4. A-1, B-1II, C-11, D-1IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 129 Question Id : 3421236909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

1 1
(SUAHPRY) (CRRIE)
SIPI TG g | L |uE YT
EERIIER I |Pooll gadl
IR Ay | L |[gIas
T UG faHd | IV |39 @

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IT, B-1, C-III, D-IV

ola|w|»

(]

CA-IL B-1, C-IV, D-III

L]

. A-1, B-III, C-1V, D-11
4. A-1. B-1V, C-II, D-III

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 129 Question Id : 3421236909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

1 1
(SUAHPRY) (CRRIE)
SIPI TG g | L |uE YT
EERIIER I |Pooll gadl
IR Ay | L |[gIas
T UG faHd | IV |39 @

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IT, B-1, C-III, D-IV

ola|w|»

(]

CA-IL B-1, C-IV, D-III

L]

. A-1, B-III, C-1V, D-11
4. A-1. B-1V, C-II, D-III

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 130 Question Id : 3421236910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y GEl 11 6 e Bifoe

I II
A |G 3T B L |amE
B. |=reardi Gfedl ot 7Te-Us 9 ad fgur I |fayy
C. |oftard ufaurees: Xes: ST . |4
D. |®Te8 Weg!ST UTEDR Yehadl- Teatd Trddd | IV. |UfSd I Sy
I feu U fadedl © U I8t SR &1 9894 DI

1. A-I. B-II, C-IV, D-III

[E]

. A-II, B-TII, C-IV, D-I

LFS

. A-IV, B-1I, C-1, D-III
4. A-1I1, B-1I, C-1, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 130 Question Id : 3421236910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y GEl 11 6 e Bifoe

I II
A |G 3T B L |amE
B. |=reardi Gfedl ot 7Te-Us 9 ad fgur I |fayy
C. |oftard ufaurees: Xes: ST . |4
D. |®Te8 Weg!ST UTEDR Yehadl- Teatd Trddd | IV. |UfSd I Sy
I feu U fadedl © U I8t SR &1 9894 DI

1. A-I. B-II, C-IV, D-III

[E]

. A-II, B-TII, C-IV, D-I

LFS

. A-IV, B-1I, C-1, D-III
4. A-1I1, B-1I, C-1, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 131 Question Id : 3421236911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
mﬂ@vﬁaﬂm‘” mmm@
A |[SeF @I ga®e| L [diarE
B. VORI YHRER II. (HIEIH YT
C. [gHidda® I |=iTER
D. |[ER &Y IV. |GadiHeA Fu!
i feu T fas gl § 9 |e1 SR 61 999 DI

1. A-IIT, B-II, C-1, D-IV
2. A-II, B-1V, C-II, D-1
3. A-IIL B-IV, C-1, D-II
4. A-IV, B-1, C-II1, D-1I

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 131 Question Id : 3421236911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
mﬂ@vﬁaﬂm‘” mmm@
A |[SeF @I ga®e| L [diarE
B. VORI YHRER II. (HIEIH YT
C. [gHidda® I |=iTER
D. |[ER &Y IV. |GadiHeA Fu!
i feu T fas gl § 9 |e1 SR 61 999 DI

1. A-IIT, B-II, C-1, D-IV
2. A-II, B-1V, C-II, D-1
3. A-IIL B-IV, C-1, D-II
4. A-IV, B-1, C-II1, D-1I

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 132 Question Id : 3421236912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
ot 9 i oS
A |3f@ dd o1 fdhar Sfiad & femn 1 |eRig
B. |fa%d 94 ST1DIS DI 1L |FR7er
C. |ARIA BTTE AT Y&l IR 1L |Agredi aat
D. |30 el P HY. H ol ga T 41 W U H || 1V, |gidqaly
A feu U faweyl & U gt 3R &1 98- DIl

1. A-II, B-IIL, C-1, D-IV

(]

-A-I B-1I, C-IIT, D-IV
3. AL B-II, C-1V, D-III
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 132 Question Id : 3421236912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
ot 9 i oS
A |3f@ dd o1 fdhar Sfiad & femn 1 |eRig
B. |fa%d 94 ST1DIS DI 1L |FR7er
C. |ARIA BTTE AT Y&l IR 1L |Agredi aat
D. |30 el P HY. H ol ga T 41 W U H || 1V, |gidqaly
A feu U faweyl & U gt 3R &1 98- DIl

1. A-II, B-IIL, C-1, D-IV

(]

-A-I B-1I, C-IIT, D-IV
3. AL B-II, C-1V, D-III
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 133 Question Id : 3421236913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

-

a0 | 1 |fE=AfEe
TH0T 2 I |HIGFR &1 g
B0 3 1M1 | 3Tl 5 ity
20T 4 IV. | §7Tfd &1 e

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-I, B-III, C-IV, D-II

olo|w|s

2. A-1, B-IV, C-I1II, D-1I
3. A-1l, B-1I1, C-1IV, D-1
4. A-11, B-1V, C-III, D-I

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 133 Question Id : 3421236913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

-

a0 | 1 |fE=AfEe
TH0T 2 I |HIGFR &1 g
B0 3 1M1 | 3Tl 5 ity
20T 4 IV. | §7Tfd &1 e

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-I, B-III, C-IV, D-II

olo|w|s

2. A-1, B-IV, C-I1II, D-1I
3. A-1l, B-1I1, C-1IV, D-1
4. A-11, B-1V, C-III, D-I

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 134 Question Id : 3421236914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1 1Y AT 11 61 T SHifoie

= =
(T

Tad g5 Hgod 11 |=om fagrt 9

| DU BT gt Il |dfed I/deE

db B-oR SR Taa [0d & SN SERaex | IV | e @

i feu U fadeul § O Il 3w &1 994 I

1. A-I. B-IV. C-II. D-III

olo|w]|»

(o

. A-L B-IL, C-IV, D-III
3. A-IIL, B-II, C-1, D-IV
4. A-IIL BI, C-IL, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 134 Question Id : 3421236914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1 1Y AT 11 61 T SHifoie

= =
(T

Tad g5 Hgod 11 |=om fagrt 9

| DU BT gt Il |dfed I/deE

db B-oR SR Taa [0d & SN SERaex | IV | e @

i feu U fadeul § O Il 3w &1 994 I

1. A-I. B-IV. C-II. D-III

olo|w]|»

(o

. A-L B-IL, C-IV, D-III
3. A-IIL, B-II, C-1, D-IV
4. A-IIL BI, C-IL, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 135 Question Id : 3421236915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

] 5
(SUTTTT )
A g | 1 | e sdad

B. |drgy 3fd | L |t &1 =g
c. |dm™Tsf®d | L |Ug &13ed
D. |ui=ai o | Iv. |Ta9a: Ud Bias ATHeEd]

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-II, C-1, D-IV

(]

. A-IIL B-1, C-IL D-1IV

L]

. A-IIL B-IV, C-11, D-1
4. A-1, B-1II, C-11, D-1IV

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 135 Question Id : 3421236915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

] 5
(SUTTTT )
A g | 1 | e sdad

B. |drgy 3fd | L |t &1 =g
c. |dm™Tsf®d | L |Ug &13ed
D. |ui=ai o | Iv. |Ta9a: Ud Bias ATHeEd]

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IIL, B-II, C-1, D-IV

(]

. A-IIL B-1, C-IL D-1IV

L]

. A-IIL B-IV, C-11, D-1
4. A-1, B-1II, C-11, D-1IV

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 136 Question Id : 3421236916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 &I
[Te®) (UT)
A g L |[3ffmr
B. [Wha I |l
C. |3fal gt 1. [\fet
D. |3M6Tg DI U® e | IV, |citen
A feu U faweyl & U gt 3R &1 98- DIl

1. A-IV, B-1, C-III, D-II

(]

. A-1V, B-1II, C-1I1, D-1

L]

. A-IIL B-1, C-1IV, D-1I
4. A-IV, B-1II, C-I, D-II

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 136 Question Id : 3421236916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 &I
[Te®) (UT)
A g L |[3ffmr
B. [Wha I |l
C. |3fal gt 1. [\fet
D. |3M6Tg DI U® e | IV, |citen
A feu U faweyl & U gt 3R &1 98- DIl

1. A-IV, B-1, C-III, D-II

(]

. A-1V, B-1II, C-1I1, D-1

L]

. A-IIL B-1, C-1IV, D-1I
4. A-IV, B-1II, C-I, D-II

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 137 Question Id : 3421236917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ol 3R YA (e & 3UR Gl 15 91 GHT 11 &I T Hifee
1 gl 11

S HIE o | L[S e

GiRLE L. [&Hedl § 9ers 3ife g1

SRETH | I WS TR

TAGI IR | IV, [dmg d

A fGu e fadedl § O Igt 3R &1 994 DI

1. A-II, B-I, C-IV, D-III

olo|w|x

[

CA-IIL B-1, C-1IV, D-TI
3. A-IIL B-1IV, C-I, D-1I
4. A-11, B-1V, C-1, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 137 Question Id : 3421236917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ol 3R YA (e & 3UR Gl 15 91 GHT 11 &I T Hifee
1 gl 11

S HIE o | L[S e

GiRLE L. [&Hedl § 9ers 3ife g1

SRETH | I WS TR

TAGI IR | IV, [dmg d

A fGu e fadedl § O Igt 3R &1 994 DI

1. A-II, B-I, C-IV, D-III

olo|w|x

[

CA-IIL B-1, C-1IV, D-TI
3. A-IIL B-1IV, C-I, D-1I
4. A-11, B-1V, C-1, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 138 Question Id : 3421236918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YRAIYIAT] Y gl Ghdl & D IR Gt 1 1Y Gt 11 B el Bifere

I Ll
i | fubn
A |FREFDIUE | I |HIGE @)
B. | ST &1 3 | 1L |3
C |dHl 1. |3us
D. |TEidiadl | IV, |G
i G U fadhetl T ¥ e SR &1 94 Dot

1. A-I, B-II, C-I1, D-IV
2. A-IL B-IIL, C-I, D-IV
3. A-IL, B-I, C-IV, D-III
4. A-IL B-1V, C-1, D-III

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 138 Question Id : 3421236918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YRAIYIAT] Y gl Ghdl & D IR Gt 1 1Y Gt 11 B el Bifere

I Ll
i | fubn
A |FREFDIUE | I |HIGE @)
B. | ST &1 3 | 1L |3
C |dHl 1. |3us
D. |TEidiadl | IV, |G
i G U fadhetl T ¥ e SR &1 94 Dot

1. A-I, B-II, C-I1, D-IV
2. A-IL B-IIL, C-I, D-IV
3. A-IL, B-I, C-IV, D-III
4. A-IL B-1V, C-1, D-III

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 139 Question Id : 3421236919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TP & AR A & R T Yeha0l o YR R

Q! 1 1Y Gt 11 &1 e it
Gl Q&I
() (WY
A | YR S B T 3R fg T &1 afaufa | 1 |3 ofR gcea & 9oy
B. |WrH fEga g fasig I | 9% - A=
C. |z dwfadRsam I, |§lg HFEIeH B M e
D. |HRdiy gl IR R IV, | - fde qwet
I QU U fadedl U WET IR &1 99 Do

1. A-IV, B-L, C-III, D-II
2. A-IV, B-IIL, C-I, D-II
3. A-II, B-IIT, C-L, D-IV

4. A-1L, B-1, C-II1, D-IV
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 139 Question Id : 3421236919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TP & AR A & R T Yeha0l o YR R

Q! 1 1Y Gt 11 &1 e it
Gl Q&I
() (WY
A | YR S B T 3R fg T &1 afaufa | 1 |3 ofR gcea & 9oy
B. |WrH fEga g fasig I | 9% - A=
C. |z dwfadRsam I, |§lg HFEIeH B M e
D. |HRdiy gl IR R IV, | - fde qwet
I QU U fadedl U WET IR &1 99 Do

1. A-IV, B-L, C-III, D-II
2. A-IV, B-IIL, C-I, D-II
3. A-II, B-IIT, C-L, D-IV

4. A-1L, B-1, C-II1, D-IV
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 140 Question Id : 3421236920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I 11
ﬂéi%m?ﬂmw cﬁm}
A [ER 1L |oc & o Wl g% exdiaiad urg ey
B. |smum II. [RETE & GRH TET S are =Y Yoi—
C. |war 1L [HY gU Ui &1 Jig
D. |feedifem V. [=icl &1 g
A 6T U f[adedl § U Il 3R &1 99 DIl

1. A-II. B-III, C-IV, D-I

(]

. A-IITL B-II, C-1IV, D-1
3. A-1ll, B-1, C-1I, D-IV
4. A-11, B-1, C-III, D-1V

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 140 Question Id : 3421236920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I II
ﬂéi%m?gﬂww cﬁm}
A [ER 1L |oc & o Wl g% exdiaiad urg ey
B. |3 11 (S5O & SRE TS arel 9=y Yo
C. |war 1L [HY gU Ui &1 Jig
D. | Iv. |aic) &1 fagam
A feu Tt fqd el & U It SR 1 994 IS

1. A-II. B-III, C-IV, D-I
2. A-IIL, B-11, C-1V, D-1
3. A-1ll, B-1, C-1I, D-IV
4. A-11, B-1, C-III, D-1V

Options :

1.9 1

2. %2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 342123274
Question Shuffling Allowed : No

Question Id : 3421236921 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension



FofaRed Saau Pt AHYE® fer o Taftd w4 & S Sivit:

aiiea i B g Hed g1 Hdid @ o § qaw! S AR TG € 3, Tl
TRAdH | g6 TRadH 3R, e 3R A 11 i & gd W @ 8, 9 3R
ST G 1§ GO 9 gl WU AHI ¢ U G P A 0 ¢ o B o
WIPR B 34 R TS 741 T U 32 SiiaeTiegl 1 Ul WidR 3l 1 g § dad
59 1 341G g1 o1, UH &1 WU i §1 g U e, g, rafaa anfe U fi gl € 1 39
R H SR-T, TR U 3R Ul P H1d 1 990 ¢ | 39 Y990 1 Ugall oed o,
dls HigH 1 ¢, GORT dWIg TG 1 WG § SR offeRT o Wy il &1 e § | Ol
HIEH 1 I b feru et 3 STafeg Pl SM1a<ad A1 ¢ 3R S P felt 3 Gall
Wifc 38 o ATl AT AT |

=0 AvE Y1 o SitaaR H I 3R qU B W § ol 4T 3R 3G 1 IR Sl H
1l 31 21a 3R 90 W €1 97 fo, Gex @l Tgie A aH1 G a1l S A1 O SREiaR
foar |

<4l PRV el el b 10 oY gl b Wi Tiefl-ciet ¥ g gyl e fierel | o
&l $ M o TG | g T8, ID! AT FHiE g, 36t 98 UHH & e Ugd
T, g Tl off T 315 U1 | HABR S b Wil 30 Bl o a0 H U TR e,
ol ot el Tl IO % Gl 6| Sell DI 4Tl Bl duic] e I9H! ST
WaR B, Hafl B G A, @M R S 3 76 ¢ had S 4 g - T
O Tt 3R Tell B 7 JHEH o1 31 T g Hht O Heft el 3R 4Y Uied § IR T
ffe, feaeriar SR I 3 i =1 &1 el e & SRR Gifid Zufau 98 ¢ [ a8
12T 3R Afd Jad H Gerd ¢ |

Sub questions

Question Number : 141 Question Id : 3421236922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST AR & TR FI% U4 37 eIyl &1 Uhdl &1 WHR & gidl 62
1. GO Y 1 1 3ol B 9

2. YU YYD U [ Y Gaierd el
3. G Y 1 U g od Dl oA
4, T GfY & RARTEa! g ¥

Options :
1.v1




2. % 2
3.% 3
4. % 4

Question Number : 142 Question Id : 3421236923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 3R & TR TR ATEHI DI U & iU {1 JHI TG 2
. g BT

2 4 BT AN
3. o &I AN
4. 3 BTN

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 143 Question Id : 3421236924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST TR & YR TR TG & Yo T IUgerd faaR 19 91 82
. Tt Yt Sl &1 g1 9 &l WY
2. Siidl g U fhar oy
3. SR A, WRIER U 3R ol (A6 47d
4. 941 &I Sild BT 3fUPR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 144 Question Id : 3421236925 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Bl Bl & [0 [Gid Y el a2 | His Geryld i 981 82
1. Bl BT 334 3Hfgdiad gl

 HADR Y Dcdl & Ufd ol 151 gldl ¢

3. &l &I Uil 4 W gial g

4. 1. IgdB1Rdl, IYTIRIAI &I I AT G |

Options :
1.9 1
2. % 2
3.%3
4, % 4

[

Question Number : 145 Question Id : 3421236926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST ARl & YR W ITiid a9y i gl g2
1. Grid HdYS Bl B
2. it Ui gl 6|
3. Tid AR ifd UeH HRAr gl

4. U141 3R Afd$ IAd | Ugad ol

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Id : 3421236921 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



FofaRed Saau Pt AHYE® fer o Taftd w4 & S Sivit:

aiiea i B g Hed g1 Hdid @ o § qaw! S AR TG € 3, Tl
TRAdH | g6 TRadH 3R, e 3R A 11 i & gd W @ 8, 9 3R
ST G 1§ GO 9 gl WU AHI ¢ U G P A 0 ¢ o B o
WIPR B 34 R TS 741 T U 32 SiiaeTiegl 1 Ul WidR 3l 1 g § dad
59 1 341G g1 o1, UH &1 WU i §1 g U e, g, rafaa anfe U fi gl € 1 39
R H SR-T, TR U 3R Ul P H1d 1 990 ¢ | 39 Y990 1 Ugall oed o,
dls HigH 1 ¢, GORT dWIg TG 1 WG § SR offeRT o Wy il &1 e § | Ol
HIEH 1 I b feru et 3 STafeg Pl SM1a<ad A1 ¢ 3R S P felt 3 Gall
Wifc 38 o ATl AT AT |

=0 AvE Y1 o SitaaR H I 3R qU B W § ol 4T 3R 3G 1 IR Sl H
1l 31 21a 3R 90 W €1 97 fo, Gex @l Tgie A aH1 G a1l S A1 O SREiaR
foar |

<4l PRV el el b 10 oY gl b Wi Tiefl-ciet ¥ g gyl e fierel | o
&l $ M o TG | g T8, ID! AT FHiE g, 36t 98 UHH & e Ugd
T, g Tl off T 315 U1 | HABR S b Wil 30 Bl o a0 H U TR e,
ol ot el Tl IO % Gl 6| Sell DI 4Tl Bl duic] e I9H! ST
WaR B, Hafl B G A, @M R S 3 76 ¢ had S 4 g - T
O Tt 3R Tell B 7 JHEH o1 31 T g Hht O Heft el 3R 4Y Uied § IR T
ffe, feaeriar SR I 3 i =1 &1 el e & SRR Gifid Zufau 98 ¢ [ a8
12T 3R Afd Jad H Gerd ¢ |

Sub questions

Question Number : 141 Question Id : 3421236922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST AR & TR FI% U4 37 eIyl &1 Uhdl &1 WHR & gidl 62
1. GO Y 1 1 3ol B 9

2. YU YYD U [ Y Gaierd el
3. G Y 1 U g od Dl oA
4, T GfY & RARTEa! g ¥

Options :
1.v1




2. % 2
3.% 3
4. % 4

Question Number : 142 Question Id : 3421236923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 3R & TR TR ATEHI DI U & iU {1 JHI TG 2
. g BT

2 4 BT AN
3. o &I AN
4. 3 BTN

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 143 Question Id : 3421236924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST TR & YR TR TG & Yo T IUgerd faaR 19 91 82
. Tt Yt Sl &1 g1 9 &l WY
2. Siidl g U fhar oy
3. SR A, WRIER U 3R ol (A6 47d
4. 941 &I Sild BT 3fUPR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 144 Question Id : 3421236925 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
Bl Bl & [0 [Gid Y el a2 | His Geryld i 981 82
1. Bl BT 334 3Hfgdiad gl
 HADR Y Dcdl & Ufd ol 151 gldl ¢
3. &l &I Uil 4 W gial g

4. 1. IgdB1Rdl, IYTIRIAI &I I AT G |

Options :
1.9 1
2. % 2
3.%3
4, % 4

[

Question Number : 145 Question Id : 3421236926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST ARl & YR W ITiid a9y i gl g2
1. Grid HdYS Bl B
2. it Ui gl 6|
3. Tid AR ifd UeH HRAr gl

4. U141 3R Afd$ IAd | Ugad ol

Options:

1.9 1

2. % 2

3.%3

4, % 4

Sub-Section Number : 3

Sub-Section Id : 342123275
Question Shuffling Allowed : No

Question Id : 3421236927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)



Question Label : Comprehension

FRTOTRET 3EaRy 31 WY Ufew Y Haftd wut & W Sve:

T1d S 31T, R BT 95 & N1 21t AT HIRTaRd 30 3TcgR I 4l b & d AR i al
R, 3T S0 1t 4TIt 31§ ] ST | qaren b1 fo & 4R | g fel 9 e o
T8I 4T, 39 Pl A S 3R 1 5 71 o1 TS 3R G o i i GART IS Bl 8, 39
a1 1 VT f9ehal 51 Y& 96 U1 39 T & o Uga-Ued 3l 1 & gRI 8 98 &
faid gon, FoRTeT Sex0 TFI® o1, 1 $ad T 31 8 T, T &1 3R T & o
UgdH ®1 w1 3G 4| AT 3R &% & Ui Sff Tai da1 o, 39 & Wik U gAN
i, SETioT 3R e hifcral 1 1 gafl ¢ WHTioidh I g 9 01 g off o
T YRR 1 Wi Sfyd T HRAdr § fqued &l ¢ 3R I8 do1 YRd 3
Ut WU ¥ fielt ¢1 9 31ep © b el STl el e v sfufary af sipsad) ¥
oM 3fua 38 HieR Fiasiie faarl &1 Rd St &1 BT et Tl 4 el o, fovg,
72 e TR 9 4 WR B 10-Y-310 g 70 7 18 1 U 3 48 TR 98 g
[ 3ffell & MR Y TR & doyul faar! &1 Yo B ded Rl Ry @t TGS
Uhdl ¥ 9 g3 | el o H1aGiR0dh WIS g & SRY, U Ul WRI 4R U o, fobe U
1 YR T ST 34Tl TR o, S8 § e TR 3l il 1 g1 |

Y 51 1 T8 T b W1d Yol YT8T R 7 301 07 et g1 o1, Sl 3t oy, R0 o
T, T, WS 3R JER HIeHTIsHl & SIRGR fele el 3¢ U1 eRed! 9l b
RN & BiIdBR (TR & S el I §Y, 3 gerdelt iR ifcd! & 1 Sl wel ¥
SR I [aaRT = 2 BT T of ferdn 3R d U Bl Hiferd Fed ol | TR &1 98
3G Y% YIS T el X1 41 d Bid, e, SUAT, el et G2, 4 3R
SR T X Gell U SRR o UG ¥ ¥, 960599, 3 faaRT 4§, ol 81 g
4| WY ifd BT WA, G 3R Y d1el gl ¢uM 3 fUeedr JeRardg
&0 T 9T | GG 57108 H 39 WY I GUR] Bl R THRH A1 9 g1 41 | I
ag) 3l g fora bl Y- affeleh il & it -3t Hevr g1, 4 3R U 36 37
feFIR Scrvs 1 o i gl ol X

Sub questions

Question Number : 146 Question Id : 3421236928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST AR TR T YRAAE GH 3R G2 o Uid defod g HROT 4l §U L
1. Il

. IR
3. A
4, eIl

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 147 Question Id : 3421236929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST IR o 1R W 3G &30 3R G Dl TG Bl 1 g PRV 30 g2
1. 37l e ¥

2, 3T e g
3. ST PITA 9
4. 3 ARG Y

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 148 Question Id : 3421236930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR SARY b YR R I8 S 1 707 g ol SR HRAaRd I Ui R Ao
AT § faHad Bedl o7

| fag da
2. MY e
3. e T
4. WO AT

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 149 Question Id : 3421236931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JUT RO & HTUR TR 37l & Widk U 10 o gl o A g gfg &l 2
REICAGT

2. S Ul
3. YTITedh Udhall
4. Gl Tl

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 150 Question Id : 3421236932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST AR & YR TR WHIATE hifd & HgH Iguy o 2 181 2|
L. HIqed
2. WdAdl
3. T

4. BTl

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Id : 3421236927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



FofaRed Saau Pt AHYE® fer o Taftd w4 & S Sivit:

W19 U 31U, YR PI S5 1 91 1t &1 HIRAaT! 0 308 Pl 4 g : d TR Pl el
1, 3T S0 T 4TIt 31 71 T | Jikten bl fow S YR H g fel e o
T8I 4T, 39 BT H 3 3R 1 5 7141 1| WISt 3R ¢ o Ui ¥l BART Bl S g, 39
T I M ol g Yl 96 U1 39 ST o il Ugel-Ugel il fR1efl o g1 §1 a8 &
ST g, TorepT SERd TIHIToTD 1, Wl el 31 1 g1 T, 3T o R T &l of
UEdH B! w1 3G 4| AT 3R &% o Hid off Tai el o, 34 & Wik U gAn
ot FATold 3R e hifcal o1 o1 gaf g1 WrTfoldh Il g g 01 g off 3l
HIHT YRG! Pl I Sfda T YRAdr § faudd Bl ¢ 3R 98 9 HYRd B
Iy W 9 el §1 9% S § o Hivela S ot aifRien U sl @l sipgad
I a3 IR TTRict faaRT &1 IRA $ 1 M IS TGa! 3 e o, o,
T2 10T o VAR U 4 YN S 31-4-3019 1 81 T 18l 1 U 3 48 UROTH g g
o 3Tl & MR Y I & doyul faart &1 §a dec et Rl HRaay @t TS
Uhdl 7 gl g3 §&pd b TId¢RID YTV g & HRUL, Ugel ft 4RI 4R U Y, fobeq G
1 YR T ST Sl TR o1, S99 5 e TR o4 3l 1 g1 7|

Y 21 910 T8 T 1 919 Uil YT8T R § 3101 U7 B g1 o1, Sl 31 9wy, R o
T, P, ollc 3R J&R HIaHTIsfl o WIRER SMF&Ie 9 ¥ ¥1 oRgdl Hal &
RIT & PRI [GIRT & S ol S §U, 3 gardal IR il & a1 Jagal il o
R I [daRT = & BT €Y of fern 3R d RIY Pl HIerd Fe ol | T &1 98
e T T YRI T < g1 Y1 U idd, Ao, JUATG, S, FHale), G2, 410 3R
SR 1 oMo Gl Ud RO o Ul 1 §, -9, 3 [l 9, ofic-id 81 3
| 11 shifct T WA, WA 3R Y dell g 35Uy 3 fIaerh? JeRarrg o
Gl T 1 | WG 2¥civs | Y WY B GURT B cih) TR SHT-GIeH 7 81 A | o0
ag) o1 § o o Bl A o otfe 3o B g, 3 ok B8 9Rw o
forTR 3w ¥ of e gl w1 %g

Sub questions

Question Number : 146 Question Id : 3421236928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST AR TR T YRAAE GH 3R G2 o Uid defod g HROT 4l §U L
1. Il

. IR
3. A
4, eIl

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 147 Question Id : 3421236929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST IR o 1R W 3G &30 3R G Dl TG Bl 1 g PRV 30 g2
1. 37l e ¥

2, 3T e g
3. ST PITA 9
4. 3 ARG Y

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 148 Question Id : 3421236930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR SARY b YR R I8 S 1 707 g ol SR HRAaRd I Ui R Ao
AT § faHad Bedl o7

| fag da
2. MY e
3. e T
4. WO AT

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 149 Question Id : 3421236931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JUT RO & HTUR TR 37l & Widk U 10 o gl o A g gfg &l 2
REICAGT

2. S Ul
3. YTITedh Udhall
4. Gl Tl

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 150 Question Id : 3421236932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST AR & YR TR T Sifd & AgH Igu & Aid 981 |
1. HIqed
2. WAl
3. G

4, P

Options :
1.¥1
2. %2
3.%83
4. % 4





